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Which of the following objectives are true with relevant of Tamil Nadu Sacial
Welfare Board? '

L. Upliftment of people living below poverty line through voluntary institutions

in the state
I1. To promote setting up of Non-Governmental Social Welfare Organizations

III. - To render technical and financial assistance to the voluntary institutions for

better quality and standard of services

IV.  To strive for equality between men and women

@A) LHandlV

(B) II, IIl and IV
I, III and IV

| @/I 11 and III

(E) Answer not known

sUODBTH sps peo eurflggi e Qem_iyenw Sereumid Cprésnsafle 6g) o a@ranin?

I Lorrﬂsug,g]su 2 6Tem FerenTiel HlmeuamhseT epevD a@;smma; G&WL@&E@& & Gurr@m
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IV. oeams@psan Quasens@h QL wlonear sosgeuss nHens Firr@ u(heug)
| &) L II wpmid IV

B 1L I wpgid IV

© LI wpyo IV

@) 11 womo II

; -(E) aflenL Qs flweldane
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2 Choose the correct statements related to “Black money”

(@)

(b)

)

These are assets not reported to the Government at the time of their

generation.

" Estimate of black money in India for the year 1983-84 is 95% of GDP.

“T'ax havens” are typically big countries which impose high tax on the

foreigners who decide to settle down.

(A)/ (a) oniy

(B)
(©)
D)
(E)

(b) only
(a) and (b) only'
(b) and (c) only

Answer not known

s Uamtd Qgmiurer Siparamid sapbler/sapmsafied &rﬂu.mmsuﬁ;émgp Caitay Qswiwab:

(a)

Wk

© |

)
(B)
©
(D)
)

GR1P/21

@ps  amsuter @oou  eimosdd opubd DD SUEEG  ssad
st@é;asgu@eug@mm. '

1983-84 sy e, s@GLY  uaigSar wHul res, Qurss e amHI [
o pHusHGe (GDP) 95% <y@ib.

“cufl grompy LasellL1b” ereLiemal @urrgj.mrra;'@urﬂu BTHEETTS G (HESGLD. Gmg'm_b' éi,r_rag;

BrHeeT, GlgCup aramanid Geualipr L el g idls aiflésmoeamu Slanfl&@d.

- (a) L@

(b) L Ho

(a) wpmib (b) WL G

(b) wpmid (¢) B
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Statement 1: A major issue highlighted by cénsu_s 2011 is that there are around

50 lakh less children in age group 0-6 years in census 2011 than

census 2001.

Statement 2: Population growth rate between 2001 and 2011 is lower than the

)

(B)

(@

Population growth rate between 1991 and 2001.

S1 and S2 are correct but S2 does not explain S1
S1 is wrong; S2 is correct-

Both S1 ahd S2 are wrong

. (Q)/ S1 and 82 arélcorrect and S2 explains the S1

(B)

Answer not known

mpml: 0-6 aawg @Euiosseaiar aaraflsms 2001 wasar sTas samsds@leau

@Qiﬁ]@i_b@urrgj 2011 waser Csmews sensCa®ube &wri 50 @l&b euamy
GODhHIIETETE. QHS 2o (PSS Grgamanuns 2011 wéser Ggrans

sansQsHUGD S g6 STL_LILL HETers).

sapm 2: 2001 wpmo 2011o %@ﬁ®$@$@ Qe erar waser Qgrams eueniss eisb

(A)

®

(©)

()

(E)

1991  LHyID 2001 er@sErsE Qaluwlorar w&sdar Osmms eueTiTés)
aSsssiL e Ul Hesuld Gmneurang DpELw.

mﬁ)g 1 LD[E;Q}LB 2 &ﬁ'l-, e Sapml 2, Hy 1-samen efarésid e

gamm 1 g;éuy, ahgjgn 2 &M

sy 1 wpmid smpy 2 @ran®id sei

&L[b@l 1 wpmib snm 2 Grer(Hb &fl. sapm 2, aﬁbg léamen sflwmer eflenésd
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4, What are the recent trends in the global economy ﬁhi_ch has led to RBI ‘sell buy’
swap of USD/INR '

(a) ~ Financial markets worldwide facing intense selling pressures due to the

spread of Covid-19 infections.
(b)  Slump in International crude prices.

(¢) - Emerging market currencies experiencing upward pressure.

(A) (a)only

B)  (b) and (c) only
_ Q7 (2) and (b) only
© ©only

(E) Answer not known

2 & G]urr@mrrg,rrrygﬁein gfu Cursgsealld erees @pHw Meteu eurdluder (RBI) =Qufés

Lmeor - @pﬁghu @B LI . ‘lp@h-curiign’ uflbrmpses GCrueduBsSs sTrEILTS

DIMLOHG)ETETG) ? .

(a)  Gsmedl-19 QuEBAsTHDPTD o esaeld B shmssdr &55];}@1 au@d epuenen
Qariurer 67 Si(WésLD. i |

(b) 2 @5 abmsuile sisr erameanl alae efey.

(c) eueTihg) QUKD shavgsetlar prawru wEliL CaoGhHrédlw &@ggggmg sHSILILF).

@ (@ wew
B) O wppid ©) LED
© (@ wppid b) wi Gd
®  © e

(E) eflenl GQsflweldvene
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Name the first backward classes commission established in the year 1953.
(A) Mandal Commission |
®)* Kalelkar Commission
(C) Harbajan Commission
(D) National Commission for backward classes
(E) Answer not known :
19536 Hmeutiul L @pse WHURSSLILLL Q@GLLEET Dpemearmugdler GULeTs GOIAL_ab.
(A) a6 <y@meaTLd : ' '
- (B)  sCadsiT ymamubd
(C) anfume emesd
D) YGensmdw m@uqa;@é;ésrrsm Caélwu oy ememtiLid
(E) eflen Gsflwelereney

~ Which of the following statements regarding Arignar Anna is / are correct?
(a) He served as the sub editor of the “Justice” Magazine |
(b)  He became editor for “Viduthalai”

(c) He was associated with activities related to Tamil Weekly paper “Mudi Arasu™
(A)  (a)only Ra) and (b)

(C) ()and(c) - (D) (a), (b) and (¢)

(E)  Answer not known :

<ifes siaman LHHlw eflwrer sapen / smpnsemer Coiay Cewwab.

(@) e B8 usHNmsuiern gemenr g AMwrTe LaflwmpHlerTi

(b) ‘e@psme’ LsHfamasuier Afugrs uaflwmdler

(c) ‘Wi Wrs arad B ey @sp Agmrurer uanflsafley FEULLTT

@ @oid ®) (a) wppid> ()

©  ®) wpmd © D (@), ®) g ©

(E) = elenL GQsflwelerene B

In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar
Kazhakam’? '

Ay” Salem ~ (B) Namakal

(C) = Dharmapuri (D) Trichy

(E) Answer not known

19446 perr Qupp wrprigd sl 8, Hyreli spsons wrdlug).
(A) Gseid : S (B) minsse :

(C) srwyM : (D) SHmss

(E) oflen Gsflweilcvene
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8. Which among the following statements is not an objective of “Cradle Baby Scheme ?
M To ensure adoption of family planmng

®)
(©)
D)
(®)

To eradicate female infanticide

To increase child sex ratio”

To increase the rate of girl child hteracy '
Answer not known :

Qeéteumib smpyéaaiier ‘Osm g6 GLoboms S LsHar CrTésib id@NSs) a5?

@A)

(B)
(©
)
(E)

IL.
II1.
IV.

A
©
E)

Ik

HEL -

(A)

©

(E)

GR1P/21

GOwUS sL_HUT® wopaw o ndl Celieig)
Guen flastaramaeamut LilliLig :

Gyhos undlar ddssms <defluug)

- Quent Ghagaailear soeflwdlame sifasfiiug

efleni_ @g,rﬂma‘:ﬂ@msu

- To transfer the substantive provisions under the Indian Penal Code

Dowry givers should be excluded from punishment
Appointment of Dowry Prohibition Officers

The marriage expenses should be hmlted to 20% of the annual income of the

i g1r1 s parents/guardian.

Which of the above statements is/are true concernmg the Dowry Pr0h1b1t10n'
Act, 19617 !

I only ' (B) II only
I and IIT only ' OY”All of the above

Answer not known

QpPw sameans siL_gdlen Eip sefarer el aman wrpmiais)
airsL_semen QarHLiLiaiiser sanr_ananuiledl(mng) elevsaiiLi CeuammHib
sl smen sl 2idlsriamer Hluidlsse

Smwens Qeaweyser Queansefer @um@mrm | urgisreuailen e[ eumLTEaTSH
20%&@er @)(m&s Couanr(Hibd

- 1961, eurslsmenr oL gL ibd @g,m_rrurrsm Copsam._ saomseiley erg [ ey

S_aTenLn?

| BT B) II w (w

I wipmio I wr_ @b ' (D)  Cuopser senardg)d
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The Samarasa Suddha Sanmarga Sangam was founded by
(A) Dr. Muthulakshmi Reddy

(B) TM Nair

(C) Thanthai Periyar

(@Q#” Ramalinga Adigal

(E) Answer not known

FIOTE G55 ENOMTES FRISSMS 2 (HeuTd e

(A) Dr. pég0el & Qrlly

B) g6, LT

- (©  spews Quilurit

(D). @Urrméﬂréua; Slg &
(E) ol Gzflwedeener -

During 1820s in Tamil. Nadu the sﬁbordinate' castes were generally prohibited frdm
(a) Using umbrella | '
(b)  Wearing shoes

(c) Wearing golden ornaments

(d) Wearing turban e

(A7 @), 0), © S )0 D

() (9,1, @ ' D) (d), (@), B)

(E) Answer not known

1820 sofléd SOIDBHIL g6 sTHSsLULL sTHUMMEE GUngleuTs saLé Qe Lene
(@ U uwerur®
(b) a;rreosmﬂ'gmﬂm@ _ :
'.(c) Fh& Hans ianfleug
(d) e semfleug :
@A) (@, ), © B) (®), (@), (d)
© (© @ @ o @) @, (@), ®)
(E) oflenr Qs flweldame : :
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12.  What are the facts related to defining GDP?
(a) It is not for a specific period of time.
(b) It measures only goods and not services.

(c) It 1s a non monetary measure.
(A) (a)1s correct; (b) and (c) are wrong
(B). (b) and (c) are correct; (a) is wrong

_(Q)/ (a), (b), (c) are wrong
(D)  (b) is correct; (a) and (c) are wrong

(E) An_swer not known

Grés 2 erpr @ e pusd (GDP) Qgriiuner sflwren sapenp/sapmsmer Caite) Qeliwueatb.
(a) é{@] T GO L sre aumrumpsE o NssTas ode.
(b) =g “Qurmlser” Agmrurer @i @ereiCLwWNEW, “Coaman” QFTL LTS Side.

(©). =g uewib sTyTs SeT6T T

@A) (a) aM; (b) wHmid (¢) seuy
B)  (b) wpmid> () &; (a) seup
©€) (a), (), (c) seumy

D) () &; (@) wppd> (¢) seumy
(E) el Qsflwelerenew

13.  Which District is occupying the last rank in Human Development Index in

Tamil Nadu?
(&)  Villupuram (B) Theni
(C)  Perambalur - - @Ariyalur

(E) Answer not known

SUOID BT 1g 6T GTHS LDFIG)JLLLb wefls Guibunt_ () @i Lamarid soLdud b cudlsdlemmg ?
A) ey ~(B) Csafl . .
O Dl 0 i

(E) e QsAwelidrana :
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16 Maieh the Billowing -

()
(b)
©
(d)

@)1 2 3 4
B 3 2 4 1
Q"4 oy 2

=y 2 3 4 1.
(E) Answer not known
Spsanr_cumenn QLIMBSSIS :

< Aflwur
(a) ms&mmg,rr&&
(b) @enEer
(c) pmwdlmegemTer
(d) srwer. Car

)
®)
(©)
(D)

(E)

Author
Vannadasan
Ingu.lab'
Ramakrishnan '

Cho. Dharman

@ (® © (d)

@ ® © @

1 2 3 4
3 2 4 1
4 3 1 2
2 3 4 - 1
eflenL Gg,rﬂh_la‘ilsbma}

R0 e

Book

Sancharam

Sool

Kaandal Naatkal

Oru Siru Isai

et/ qgg,asl.b
F@EHEILD
(&&D

&n'_r'r,ggsh 5m'_a;s'n

- nén Qos

11

 GR1P/21
[Turn over



15.  Child Development Index takes into account of the following factors

L Education_
1k Income

III. Health

IV. Nutritional status

Select the appropriate combination.

(A) I,IIandIII

@ 1, 111 and IV

© - 1 IlandIV
©) ILIIand IV

(E) Answer not known

GLRHMS Gm[ngrrL@é; GOUSH Semeumid a;n;fsauﬂasemmé; sanidle THSSIS G]as'rreiTQg)gj E
=1 seedl i . |
II.  eumwmed
IIl.  s&ngmyd
IV. el 655 Hlewe
sflwrer Gergemnasamu Csie) Qaliwa|b.
@ LI I._D’I‘DQJL'D 111
B) L III whmib IV
(C) I IIwpmywlIV
(D) II, III wpmo IV

(E) aﬂm;_@g;rﬂuqaﬁ]éomm

GR1P/21 12



16.

17

18.

Punjabi language has close connection with :

Hindi and Urdu
(C) Pérsilan and Urdu

(E) Answer not known

u@pem4 G
)  adlbd wpgid 2 ®S!

(C) © unpésibd LHHID 2 (HE

(E) olerr Qgflweiierans

(B) Hindi and Sindhi
(D) Sanskrit and Hindi

2 L@ Gg;@réléﬂu_l Qi 2 e wg).
(B) aflpdl wppd A5S
D) siavdmEDd LHYID aflbd

Which article of Constitution of India mentions the abolition of untoﬁchabi.lity?

(A) * Article 16 (4

(C) Article 18

(E) Answer not known

@ Article 17

(D) Article 19

G@pHwi Cﬂ){qé]_u_lmcmmu@sﬁsr‘ﬁg; &768 SaLrento @uiltiL) b @ﬁuuﬁi@aﬂmg}?

(A) 16 (4) s75s
(C) 18 snss

- (B) efewr Gsfweildvens

(B) 17 sysg)
D) 19 er5a

Which ideology threatens Indian Unity?

GQ/ Communalism

(C)  Democracy

(E) Answer not known

(B) Communism

(D) Socialism

eTbs HMmES LD @HHL @DOIML®L AEFENSHIEDS?

A) aEuyuTsd
(C) wéserm &

(E) . e @g,[ﬂmaﬂebemu

(B) @un@mmLémm
(D) GCemdlwedleb :

T ~ GR1P21
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19.  This place is located 12 km South East of Madurai. It proves the fact that an  urban
civilization existed in Tamilnadu in the Sangam era on the banks of the river Vaigai.
A researcher and retired civil servant Thiru R. Balakrishnan points to the
similarities between this civilization and Indus valley civilization. :

Which of the following places is déscribed in the paragraph above?
(A)  Azhagankulam
(B) Porunthal

(€)” Keeladi
(D) . Kodumanal

(E)  Answer not known

QeuallLb wgy@ridmbs Csadpss dosudeo, 12 4.8 Asraeais  Smwbsererns.
sUlpssdler @meums ydHpEsETEIL FESSTO BET BISMNSDL S@WHAGHSS UHHW
2 @@L | LmDSTHNEDE. wrroFlurerpd @ue] QuDp SirEs  iderfujwrer
8. . uredlpayamrar, Qs simwpdnHs prefasdnen Hbg soQael prafssdnEw
2_GTaT DHMIIDEEET &iI1q.6 STL_(HE DT,

Gosd @A Hlerar @)L b wing?

A) sipsaigend

(B)  GQummpsed

€) &yq

D) Gsr@wenred

(E) &len Ggfwellerena

20.  Which book explains the four noble truths of Buddhis.m?_
(A)  Nettiprakarana

R Petakopadesa
(C) Buddhadatta

(D) Ananda
(E) Answer not known

- GHS USSED LSS oS Ser Brens qaﬂg > GTELDSHEET aﬁ]mas@é]rn)g,ﬂ
A)  OpligQpsmyem
B)  9_CaruGsen
©  usssssn
D)  apsm
(E)  aler QsMwellcrana
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21.

22.

Who first brought Christian faith into South India?
(A) Martin Luther 3 (B) Ignatius Loyola
(C)  St. Francis Xavier (®Y#”St. Thomas

(E) ~ Answer not known

(PSET (LpSedled é]@g,@su pllsamasam CsearealbduimeldnE GlameaTihgeur wmT?
(A)  origer QsT (B) @sCarflwen eCGuwimam
(C) yefs Qprendlev Caeflwim _ D) yefls smoev

(E) elev Gaflwsliidvena

This Philosophy was purportedly founded in the 5t Century BC by Makkhali Gosala.
It. was a major rival of vedic religion. It reached the height of its popularity during
the rule of the Mauryan Emperor Bindusara around 4t century BC. This School of
thought was followed for nearly 2000 years through the 14th century CE in the
southern states of Karnataka and Tamilnadu

Which school of thought is described above?
(A) Carvaka

®)y” Ajivika

(C) Lokayata
(D) Mimamsa

(E) Answer not known

Bsspzieud S.ap. Syd mppETged WwESTE Caremayrd HpeunuligBEsTD e
< PuLudng. Qs Cas wesHDEG QUEBL Faurrs QMBSS: @&, &orT &.up. 42b -

. pnhprasg e Quearflu Guigar Apgismyreilar < 8s sragdld Lsplearn 2 f5ms SDLHSS.

@Qsssgun 9. 14 b miopran® ey SHlLgsie 2000 an@h  smemiseT
Qsenorhleniseanrer sTHT_&T HNID 5UOWesde AsT gl WemuhpiiiL g

Guastgpib elaifiiy abs ssgiaisms GHIESDS?

A)  sieunst |

(B) %Qa.raalb

(C) Censrusb

(D) Owmber

(E) &fenr GQsflweicena

15 ' GR1P/21
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23.  How the coronation of crown prince was described uncier the Vijayan;'igar rule?
' (A) Aswamedayagam :

(B) Pattabhisegam
(C) Satabhisegam
@) Yuvaraja Pattabhisegam
(E) Answer not known
aﬁl%mgar‘r.%uﬁuﬂ@r Eip @araurslen (Dig @1 L& alaIT SIDPESILLLE?
(A) &@m@mgmn&;& :
B) ulLr9Cagsd
(C) ssmiCagsid
D)  weurmy L L MACagsDd
(E) e&fenr Qsflweiievena

24, :If a simple pendulum with the mass of the bob as ‘M’ has a time period”T", then if in |
the same pendulum another bob with mass 2M replaces the original bob. Now the
time period 1s (It may be assumed that the string attached to the bob has no mass)

(A) Sk
T
(B) =
Q7T
T
(D) =

(E) Answer not known

M arémp Hlenm Qe @5 saflayseen (simple pendulum) qg;ansda.; Cryid “T” erew o erarg). -
et oiggaflaysaien sarep@en(® wrHniL@eusre sear Hen 2M o5 wrndng. sHCLITE
S\H6T @LIGF)GU@G‘II;I)‘LD GTaTETEUTS @ (HhGEGWD? (emEHGRTML. STHRIGD Gewip ﬁmmmggwgnas@su

- &(HSEOMID)
A - 2T
T
®
() T -
- 3T
D) T

(E) oflenL Gg,_rﬂuaﬁiebsmm
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25.

26.

Alamgir nama was written by whom?
(A) Jafar Khan

(C) Aurangazeb

(E) Answer not known

< QDET Briomenes @uhdluig wri? -
(A) sy smen

- (C)  seyrmssl

(E) oferr Qsfweledrane

Arrange the chronological order.
Death of Humayun
Second Battle of Panipat
Building at Fathpur Sikiri

g B

Proclamation of Din-illahi

A 2-1-4-3

Ry”1-2-3-4

) 8-dip1

)y s

(E) Answer not known

Spaar_supern sre euflensiLBSSIS.

ke amwmefler @ mnLi

2 @ rerTLmb urrasﬂl_"Jul'_(B Gu-rrr'r
3. uGsLLT Hah sl LiLBhge
4 Sen @aradl wsib <idledliy

A 2-1-4-3

B 1-2-34-

C) . 3=4-2-1

D) 4-3-2-1

(E) eflenL AgMwelerena

17

(Muhammad Qazim
(D) Mukhtiar khan

(B) @panibg srelid
(D) _(yaésg,l.urrr'rasrrsh
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27.  Which land distribution system adopted by sultans of Delhi?
'(V Iqtadari (B) Mansapdhari
(C)  Subhadhari (D) Zamindhari
(E) Answer not known

QLeved sdvgreanserme epmsGsmererul L Bl eNHlCwns wpenp 61gi?
A @sszm (B) wergigmfl |
(C) susm : , (D) sbergm

(E) &fer Qsflweidena

28. Match the following :

(a) Mahabaladhi Krita 1. Commander of the Cavalry
(b) Mahashvapati 2. Commander in Chief
(¢0 Mahapilupati 3. Chief Justice
(d) Mahadanda Nayak 4. Commander of the elephant force
(@) (b) (©) (d)
A 4 3 2 1
@2 1 4 3
€ 1 2 3 4
D 3 2 4 1
(E) Answer not known
Spsam_cupenn QUTHSEIE.
(@) wstured fmss 1. @deoruemL sarud
(b)  wsmeveuLIS 2 UL g SeTLid)
() wsrigud 3. soamw BHud
(d) wsrseaTL BTWS 4. wrenenLt el SerLig)
(a) (b) (©) (d)
A 4 3 2 1
B) 2 1 4 3
&y 1 ;i 4
D) 3 2 4 1

(E) e&flenr GQsflwellevenen

GR1P/21 18



29,

30.

31.

Who was the Director General of Archaeological survey of India at the time of Indus
Valley excavation?

(A) Dr. R.D. Banerjee @Mir John Marshall
(C) D.R. Sahani . (D) Max Muller

(E) Answer not known

Aibg s0@aial espammiusder Curg Gndw Asra@unmdr @piefer GusEpT Ameane

WIm?
A) - gpeareur R.D. unengd) (B) & gmeir ITaLED
(C) D.R. sapnaf (D) wr&ev wpedevrt

(E) e&llenr Qsflweilcvancy

‘More than 500 seals have been discovered in Indus Valley civilization which are all

(A) Gold . (B) Silver

(€)” Terracottas (D) Copper
(E) Answer not known

Spg swleuefl prafasdd 500-&@Ew @LD'[I:)I._II'_L_. pSHlenyadt STGL HESULLLF). DeUsHer

<& swrflEsiulLg).

A smsD B) Qausraf

(C)  wairawrmed QeinutiLl L g (D) Gaby
(E) efflenL Qg,rﬂu_lsﬁlsbemeu

The source of dendrotherm.al energy 1s

(&) Biomass (B) Coal

(C) Pyrolysis (D) Natural gas
(E) Answer not known

wyQeuiu 2 Hmeden (deﬁdrothermal energy) Sy erarLig)
A) =2 WGrsSyer ' (B) fassfl

(©) Qauuélamsay D) Qupens eumy
(E) e&feor Qsflweilcvena
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32.  Which of the following is the consequence of climate change related warming of

rivers?

(A) 'changes in water salinity
Mzhanges in fish migration patterns
(C) changesin path.ogen load

(D) changes in contaminant levels

(E)  Answer not known

Qemeumeuareundley ergl pHlsatlen sreblend Cgmfurer Geuliuwwibrseler elemearey?
(A) B 2liys seenio THDEIGET

(B)  Bemser @LUGQuUuwITe (penm DTHDEISET

(C) Crmusdfdser erairanfléens wrhHphisar

D) B 2568 L GH wTHYBEISET

(E) e&lenr Ggflwelleveney

33. The major cause for the depletion of Ozone is

(V Aerosol

(B) Hydrogen Sulphide
(C) Hydrogen Sulphate
(D) Carbon di oxide

(E)  Answer not known

@Ceranar PG WaEw smyeanf
A) grsviuLew
- (B)  ewanl e s .anui(®
(C) emant yean g6..Cui_
D) smruer e g s@en(H

(E) elen Qsflwelerenen
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34.

35.

The pollutant which cause impairment in plant metabolism is
(A) Nitrous oxide
(B) . Carbon di oxide

(V Sulphur di oxide
(D) Carbon mono oxide

(E) Answer not known

(e_r,rrsur;-..aumr'r@smg) rHD&SSHD Gernur el gHLBSGID oms
A)  eplyev sEmav(

(B) 5rrr‘rueb‘r-6m|_-%ésms_m@

(C) sour-o_-ysma(

D) sriuen Gureamsamev ()

(E) e&ler Qsflwelevena

The Chairperson of National Disaster Management Authority is
(A/ Prime Minister

(B) Home Minister

(C) The President

(D). Defense Minister

(E) Answer not known

Cadlw Cumm Gueremrenio 2L, EERTLIS S 6T HEDGVGUIT
(&) Qs wpS
(B) oergieon widl

| (C) seamdud
- (D) ungsmiygiep wpS

(E) el Qsflweildvena

21
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36. The most important scheduled tribes of Uttar Pradesh and Uttarakhand

(A) Todas
(B) Nagas
(C) Santhals
(B/ Tharus

(E) Answer not known

o 587 95Cseb HDHID 2 SSTETERTI.6N LS (PESwLDTe L@rﬁ@jlq_uﬁlemr'r

A) Csmr

B) mrar

(C) ampse6n
' (D) smgev

(E) efev Qaflwefcrenen

37. The most populous State of India is

(A) Bihar
(B) Maharastra
€ Uttar Pradesh

(D) West Bengal

(E) Answer not known

9fs wés_CQgransam QararL @bdluw wrbled
A)  Sepmr
B erseod
©) es8797Css0
D) Gupe eurisid
(E) eflen Qgrﬂ weSlevenev

GR1P/21 22



38.

39.

40.

The total no. of railway zones in India are
(A) Fourteen Zones (B) Fifteen Zones

(C) Sixteen Zones (D) Seventeen Zones

(B An % . THE QUESTION AND ANSWER ARE TO BE
FWEE DO STONEL PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

@pdwredle pulerCeu warramisafien Qorss erarafilsms

A)  udenmen weTL ST (B) udleanig e _emiser
(C)  ufemyr weRTLEBEIGET (D) udCery weir_erseT
(E) oo Qsflwueldena BaCadrall wpgd alw Gmz) gy allpars

al@qIpr @pallda (par aldsiUL 2 drarg).

soil is found in all the districts of Tamil Nadu except N 11grls

(A) Red soil ®)ABlack soil
(C) Laterite soil (D) Sandy soil

(E) Answer not known

e euens, WD Brigd fodflfleow gy wLHD @asg reul L mhiseflgid
srent L (BEmg).
(A) Qeswerr (B) sflsed wewr

©) simsswaRT (D)  wewréd e

(E) e Qsflueldeme

Identify the option in which the rivers are given in North - South sequence.
(A) Godavari — Mahanadi — Kaveri — Krishna

GV Mahanadi — Godavari — Krishna — Kaveri

(C) Krishna — Kaveri — Godavari — Mahanadi

(D) Kaveri — Godavari — Mahanadi — Krishna

(E) Answer not known

QL &G - (snE auflevsulichr ymiser QETHSSILIL(HETET QETED SENLULITETLD STERTs.
(A) Ga;rrgrréurﬂ — &M — sTGeufl — f(HegewrT

B) warpd — Cangreuf — Hmeyemm — srGeau

(C) Hmeyenmm— srCGaufl — Camgreufl — L&THS

@) &1Goufl — Camgreufl — wamrdH — S(meyenrm

(E) e&levr Gsflweidvens
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41. A super computer that allows researchers to model energy technologies using
artificial intelligence is

(A/ Joule 2.0 (B) Watt computer
(C)  Zetta scaler (D) Fugaku
(E) Answer not known b :

- wrdfl oppe Qsmfldr mLusHoar rmisdurearisd Cdewubheas Heamamle] @pcum
aulgeuemn&s el Gobul L seavflef
A)  go@2.0 | (B) e seflafl
(C) & LrevCsei 2 D) uysrse
(E) eflen QpMwielerenco :

42.  Which of the following facts about Covid-19 virus is / are wrong?

(a) People who have been infected by the virus but do not have symptoms do not
spread virus. :

(b)  Reinfection is not possible.

(0  Anosmia (loss of smell) is a symptom.

(d) Babies do not ge.t infected by Corona virus.
(A)  (a) and (b) only

Ry (a), (b) and (d)

(C) (c)only

D) (d).only

(E) Answer not Iknown

Gameil_-19 eveuren Qg,m_rrurrm &pa;rr@w gapmisafle g,a.lg)rreo'r sanenm /[ sahmisemerT (Sg,rrm
- Qadiweybd

(@  eeurey gmpm ehuigBrlab, Sibl@ilser Godwrgeuiserted GsTdm Lraurg.
d)  eoupen AsrHn ghulL BUGSEES Bar®ib OsTHn ThLIL 1.
(© ‘wpahg 2 armd sareno @il — Q&CsmHdler MGHwurEL.
@ epbossEse @EasTHn LT,
(A)  (a) wppd (b) LG
B) (a), (b) wpmd (d)
(O (©uwiEb
(D)  (d) w @w
(E) eflen Qzsfwelerency
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43.

44,

“The one who gave false judgement (Ethjlé_llan), was deeply hurt by himself as a
woman who pulled out one of her breasts to burn the city”.

These lines which seem to indicate the story Kannagi is found. in which of the
following Sangam Literature texts? -

(A)  Kurunthogai (M attrinai
(C) Puranaanuru (D) Akanaanuru
(E) Answer not known :

‘gdlemerer seume Heuhm

R (PDOD SNIGS ;;ﬂ@mfr 2 arenil’ —

samanduer egorpeps GHluug Cure sreriu@n  Geeufsdr @LLbG]QQ’)g) LIE:S
@evsdlwib

D)  Eyslsrms (B) B Blen e

© uyppreny D) <ispram

(E) eflenr Qs flweldene

Which of the following rivers originate in Karnataka?

1. Bhavani
II. Palar
[II. Pennaiyar
IV. Cauvery
Choose the correct one :
S5 <. i 0 1 R ®B) IV,I1II
(C) IILIV,I @ T, 111, IV

(E) Answer not known

EPSRTLIDNIET GTHS DpMEET SBTLS TH@sHd 2 HUsHLTdamen?

I ueurme

IL umemm)

III. GQuesrepemmwimmy

IV.  smefifl

sflwreneuneny Comb0s[HESD :

(A& 110 10 o B IV, 11
(C)  JIL1V.T (D) 1, 111, IV

(E) &ferr Qsflwelavena

S ' GR1P/21
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45. Consider the following statement
(1) India Introduced the family planning programme in 1950s
(2)  The family planning programme adopted Neo-Marxian approach to birth control
(3)  End of National Emergency Ruled out compulsion in family planning
(4)  Planning and implementation was carried by central Government

Choose the correct answer :

(A) 2 and 3 only correct ( 1 and 3 only correct :
2 and 4 only correct (D) 1 and 4 only correct
(E) Answer not known

s FaHNISSMaT BB :

(1) 1950 =i yarm(Baeier @i GHLL sLEUILE HLLsms NwpstuBsSwg)

2) GOwy s EuT® SiLwrag yHwu-wrsdu JeEIGLPePYea oigliLimL e
Qewiu’ L g

(B) Gsflw ABm&sl (PigesE eubse L GHLU sLHLuu® sLLmuréssuuLelome -

(4) Sl e wpnb QewauBEse wHw irsre CopolsTerariuL g

gilwrer el _amw CobolsHEsea D : :

(A) 2 womw 3w @ & B) 1wHmbd 3w EW &l

©)  2whmb 4 L@ & D) 1 wHmid 4 v @b &

(E) e&fenr Qsflwaicranen

46. Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded to
(A) Tmt. Senthamil selvi
(B) Tmt. Muthammal
(C) Tmt. Ananthavalli
@ Tmt. Senthamil Selvi, Tmt. Muthammal, Tmt. Ananthavalli

(E)  Answer not known

&Sy Qewgussrar, 20201 <yaigan soLT FTejer 6(Hg — &@ leflssiul L g
A)  Hmwd. Qepsilp Caawe '
B)  dowdl. pgsibdwme
©)  Howd apsaeraf
D)  Hmwé. Aspslp Aawel, SHwd. (pssbweT, HmHos yebseadaf
(E) der Qsflweievenen
GR1P/21 26 n



The word “Sustainable Development” is clearly indicative of the fact that
(A/ Natural assets are finite

(B) Natural assets are infinite

(C) - Natural assets are not resources

(D) Present model of Development promotes stability in nature

(E) Answer not known

“Bever Hmsgib <19efl(psd” erapid euniigens geraflwioms GHlULS)

(A) Quiems Qensg&EE6T (PlgeD&sniqLig)

B) Quhems Qsrsg&Eaer (plganTESs

C) Qupms QENsgEseT QUATRISET i

D) sHGuTmsw eaniddl wrHfl @upeas dvSrssearamwau casEalsdng
(E) dlerr Qsflwefcvenew

The following are the functions of Niti Aayog.

Find out which is/are wrongly listed

I.  To foster cooperative federalism

II. To give final approval to five year plans

III. To implement schemes for rural development

IV.  To advice the State and Central Governments on levying taxes

() TandIl : (B) I, 1II and III

(Q” 11 and IV _ h (D) Only IV
(E) Answer not known

Hé <Cwrsen uanflser G AarHss L ([Hererer

@8l erg)/erena g;ajg)rra; Car@ssiul_(HeTerg)

i gl (Hme sl Ll Sl aueTTsse

IL  gisran( HlLbsehéE Qnd @uussd Sielisge

III. ocaps aueniglEsmen Sl L miGHameT eL(HSSHISO

IV. wsdwu wpmib wrHle Sif&sEkseE el e QsTTuns sible|my alpmIGSD
@A) Iwpgoll ~ (B) LII wpgw III

€) II whmw IV (D) IVuwl @b

(E) eflenr Gafwelcrene
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49.  Which of the following statements regarding political parties in India is/are correct?

(a) Parties in India function within the institutional framework of a federal
_ structure and are bound by the country’s electoral laws and rules
(b) Strong institutionalised parties are vital for healthy democracies
(A)  (a) only correct : "(B) (b) only correct
(C/ Both (a) and (b) are correct (D) Neither (a) nor (b) is correct
(E) Answer not known :

SiTflwe s 8seT GPlds Spsramiu@b eursdunsaild 6g/erenau sfwirareneu?

(a)
(b)

(A)

©)

(E)

Qi «rHlwue sl s @m il 8 sl Lewlysger Qewduddamer Gogb
Briger Cagen 1L riseT Hmib eff&eEnéE sLHliuG & eamen

fpliurer geaprus  BTOSEREEG eu@euter Hneerésiul L sl fsdr s

(&S wrareal

(a) wL_@Ew &M B) (b) w @b &M

(a) wpmd (b) wL_EL & (D) (a) yw e, (b) Wb Géveney
ellenL G Muieferana T

 50. - Which of the following (Book-Author) is wrongly matched?

(A) Half Girl friend : - —  Chetan Bhagat
(B/ My country my life — Dalai Lama

(C) Born again on the mountain —  Arunimasinha
(D) The country of first boys o Amartya sen

(E) Answer not known

6rg)? -

A)
(B)
(©)
D)
(E)

GR1P/21

Epssrariu(d LSSSHSET LHMID SIFar T(psgetisaied seuprs GUMMSSLILL ReTeng)

QDTG LI TeRTL - Gesenuss

GTeoT Gg;.sl.b GTEH GUMLD&HENS - SEME QDT

were gl WearmBILD K9mbGHen - Simefloredearap
PSE c%é&TlﬁidTaimasaﬂebT Cged -  wisw Caer

eflen Qg Mwelerene
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51. Match the sport with the corresponding number of players :

Sport No. of players
(a) Polo 1. /18
(b) Rugby football 2.1
(c) Hockey 3. ih
(d) Baseball : 2.4
@ () (c) (d)
A 1 3 4 2
4 1 2 3
() 3 | 4 2
D) 1 4 2 3

(E) Answer not known
srealIL{BD ellepamim g HeT SISHGS Gg,ema.lu.rrrem ayisehen ereiramiL_en QUITHESIS

eflenerwim_® ey iTEer eremr
(a) GunrGer S
(b) 189 sréUBE 2o
() anmsd 5,
(d) Guevume 4. 4

@ B e (d)

(Ay- - 1 3 4 2
B) 4 1 2 3
Y 8ot 4 2
an i 4 2 3

(E) oflen Qsflwelcvanew

52. Which of the following is/are not situated in Rajasthan?
(a) Dilwara Temples ]
(b) Mehrangarh fort
(c) Bara Imambara
(d) Purana Qila

(A) (a)and (b) _ @B7”(0) and (@)

(C) (a)and (0 (D) (b) and (d)

(E) Answer not known

&Epa;rrsmuu(auema_las@ﬂeu T8/ eTaneu Jngcmg,rrsaﬂem SiamhSlésaidana?
(a) Seeurgr Caralerser

(b) Oueprmstt Cam el

(c) LT @OmbLIFT

(d) yygmenr Heomw

A)  (a) wogd () B) (c) wpmid (d)
©) (a) wipmd (©) D) (b) wpgmid> (d)
(E) &l Agflweievene _ |
n j ; 29 ; _ GR1P/21
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- 53. Match the following women personalities with their achievement

(a)
(b) Sarla Takral
(¢) Arunima sinha
(d) Surekha Yadav

() (b) ©)
Ay -1 3 4
® 3 1 2
&3 1 4
D) 3 4 2
(E) - Answer not known

Personality (Name)

Anna Rajaram Malhotra

(d)

H N s D

Achievement
India’s first female to fly an aircraft
India’s first female train driver

India’s first Woman IAS officer after
independence

First Indian woman amputee to scale
Everest :

Spsararriiu@b QUEHT FTEERTITETTSEEET SieuiT&eT srgman L e sflurs Qunmssis

(a)
(b)
()

(@

A)
(B)
©
D)
(E)

GR1P/21

- angenamumen (GlLwim)

SjereuT Freyrrmd woGanrsym

&M &6

Si(mblor SHeramm

&CraT wrseu

@ A8 0
1 3 4
3 1 2
3 1 4
3 + 2
eflenL Qs Mlwelana

(d)

e - T SO (G

30

FNSEOG

@ndwrellen pge Cuer eflome
@ndureden apsa Quar @ruls @r G
sgpdly  @pSHwureler  apsed Quair
IAS iflanfl

gqeuevl.  Elersems @ DLDBS, ST

SlawTig SHULILL (1S @bdwi ClLiewr



54.

55.

. (a) amwl

Match the Tourist spots of India with their States

(a) Hampi 1. Andhrapradesh
(b) Horsley Hills 2. Uttarakhand
(¢) Hogenakkal 3. Karnataka

(d) Haridwar 4

Tamil Nadu

a) (b) (c) (d)
(ﬁ/ 1 4
B 1 2 3
() 2 4 1
(o -4 -8 et
(E) Answer not known

= 0O = B2

@pdHwnellen FHNEOTS SIS i e wrhlorsCarm® QUIHSSS

< pSlrl WyCseld
2 SalyamenT_

—

(b) anmievCe GemmiseT 2
(c) gCaarsse 3. &BIL&D
4

(d) anfisgeumrt SWOPBTEH
() (b) (© (d)

A) 3 1 4 2

(B) -1 2 3 4

(C) 2 4 1 3

D) 4 3 2 1

(E) olerr Qsflueldwana

Where was the venue of the 3rd Global conference on road safety in collaboration with
WHO and world Bank in 2020.

(&9 Stockholm (B) California
(C) Holland (D) Geneva
(E) Answer not known

2020096 2 @& ssrsTy Hoeuand (WHO) wipmib 2 es eurd (World Bank) Qe FTEn
ungisTUY upHlu 3eug) sTeuCss sHSSTRE perL-CQup @)L 1D 6rg)?
(A)  evrsCanmid (B) Gsels.ummefluwm

(C) Capremps (D) Qgafeur
(E) el Qsflweiema '
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56. The term biodiversity indicates
(A/ Species richness and ge.netic variation
(B)  Species richness and habitat diversity
(C)  Genetic variation and diverse ecosystems
(D) Species richness alone

(E) -~ Answer not known

Licoguffwitd Seveg) 2 ufltiuemowid erern LIS GHNILAHeug
A) GeEdeueo whHmib wiue Ceaumum®

B) @ealsenw wHHD eurped i LeIOWID

(C) wruay Gmgjur@ LHMID LIEIES SHLOQGHLOLIL|GET

(D) @Gﬁf@;@&@@mm WL (Hb

(E) o&flen Gsflweldvenaw

57. Kidney stones are formed by the Precipitation of the following chemicals

i Cystine

I1. Oxalate

II1. U_ric acid

IV.  Sodium

(A) TandII BT, 11 and 111

(C) IIandIV (D) LIIIIand IV

(E) Answer not known

Thg @rerwer QUL ST Uigeuddler epeod Amibre snser 2 (heundlamen
L SlvLe 6 | . _

II. < Hever

III. wis ofep

IV. Gsmguib
A) TwpgbIl (B) L II wpmyd III
(©) I whmnd IV D) I, I, III whmin IV

(E) el Qsfweldrana
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58. The colour of the skin in ripened apple, tomato and grape fruits is due to
accumulation of '

(A) Carotenoid _ (B) Lycopene
W Anthocyanin (D) Ethylene
(E) Answer not known

LWss e, sasmefl wpmib S esufler Corellen HlnsHHEé sryewid
&) &Cprligemmi® . (B) e@esCGasmier '

©) yarGarensweafler (D) esdadlen

(E) oo Qsflwelerene

59. Single cell Eukaryotes are included in
(A) Fungi : (B) Monera

(€Y Protista (D) Archea
(E) Answer not known

.@_fommé Qeer WCaMNBWT_Héser Qeunmer ardle i kiEHns)?
A) yepems (B) GQumeflym

(C) yGpmligevLm . (D) ersSwr

(E) el Ggflweldene

60. In the Haber's process for the manufacture of ammonia
Finely divided iron is used as a catalyst
(B)  Finely divided molybdenum is used as a catalyst
(C)  Finely divided nickel is used as a catalyst
(D) No catalyst is required

- (E) Answer not known

-G,@muﬁ Qeweapanmudled, SdCorafwim gmmﬂggsﬁlm

A Am gsarsarasiul L @Hiby eleansdwuns LweTuOE DS

(B) Am gsearsermssiin’ L wredlliiGigend eflenemu,sdluins Liwie @eﬁg@
(C) 8y gsearsermésliul L ‘lﬂe%aséb fevanusduns e

D) epg emanysdud ComailiLiBoidlerame

(E) ofenr Qsflwelldvensy
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61.  What are isotones?

(A) Atoms have same number of protons but different number of neutrons
(.V Atoms have same number of neutrons but différent number of protons
(C) Atoms have same number of protons and neutrons

(D)  Atoms of the same element with different masses

(E) Answer not known

e CamCGLmenaeT creme Wreneu?

A) s YCrrliLmer eamerfiisesub wrpulL Hlul gren aareilémaud 2 @l
DG S&ET ' :

B) @é5 Pulgrar aamafmsuyd wrpull UGCrTiLTer aarmismsub 2 LW
DI S&ET

(C) &5 UCTT e whmid Hluyl Trer eramanllE@sib 2 oL L SigmIGEeT

D) wmulL fepymrw Gy seaflgdean amisadr

(E) e&fer Asflweiicens

62. Silicon is one of the best known semi conducting material. As its temperature rises
more, it becomes a better conductor. But the temperature at which the silicon gets

permanently damaged is

(A)  100°C @ 150°C
(€) 200°C . (D) 250°C

(E) Answer not known

Aellsanen, &ons SOwWLLLL  GopsLssaie @amrEb.  dgem  Geulublene
Sflsfsmsiier o5 Hobs sL_sHurdng. DT em Qauliufleeuis flssrar Hlrbsrons

QawedlipliLig
A) 100°C & B) 150°Co
©) 200°Ca& - (D) 250°C &

(B) eflen Qs flweildbena
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A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the

colour of the rock seems to be

(A) Violet
(B) Blue
(C) Green |

(D/Red

- (E) Answer not known

@afl 2 0 sromslamL s QararL @@ umtep Upzast geflwrd geaflfelssliL@ng.
2LGurg), urenpufen Hlpwrss Coramielg

(A) oz
B) Sewb
C) uéws
D) Seuny

(E) dllenL Qaflwelerene

Raman effect is scattering by
(A)  Pure Solids

®)” Pure Liquids
(C) Pure Gases
(D) Impure Gases

(E) Answer not known

@ e eflenerey eTeucLans aflFflgmed

A)  srieowure HLLAUT®Lsaid Hab gelédlspe
B) gnwemwwrer Hreukisafler Hlaub gefléésne

(C) gniewwren euryssefie ;ﬂas@[o gafl&dlspe

D) gnuewwp eumyssefler Hlawb galéfpge

(E) e&lenL Qsflweilcvens
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65. The common table salt is
M Compound e (B) Element
(C) Mixture (D) Alloy
(E) Answer not known

Qurg Cuens 2_LiLimeng,

@A) Csion | (B) saflwid

C) semea : : . (D) a@a)rrasé;a;ebsm_eu
(E) o&flenr Gsflweiidvensd

66. Which of the following statements is / are true related to COVID-19?
(a) Adding pepper to your soup prevents COVID-19
(b) COVID-19 is transmitted through houseflies
(¢) 5G communication networks spread COVID-19
- (d) Sun light does not protect oneself from COVID-19
(A)  (a) and (b) only
(B) (c) and (d) only
(C)  (c)only

(-D)/ (d) only

(E) - Answer not known

Gamell_-19 Ggniumer Spsranib spnseild efwmer ah_r_i)mm/ah,rbguassm@f Cairey Qewweyd.
(@) pmb umEb eﬁ@él e (@) Werg Cariugred @BCHTL QsmHenn &HEsmD

(b) eSiiged 2 Grer FESET pPELDTE @‘&,@‘é’,nﬁ)@ L6y I

() . 5G Qgrremsvré_s Qgm_itL| euenaudles epeions Camedl -19 Lgeyd

(d) Gflw @srﬂ emeuamy GCameldll-196 @) (mbg) LNGISTESTS)

@) (@ wppi> (b) 6 Gid
B)  (© wppid @ v Gid
(€) (o) i
D) (@) wipw
(E) & Qsfweldvene
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67.

68.

On rear wheel drive cars, with the engine in front it is a common practice to weigh
down the trunk in order to increase safety, when driving on — '

(ﬂ/ Icy roads © (B) Muddy roads
(C) Hill roads (D) Plane roads

(E) Answer not known

weauss Quibdlyd Csran.. Gar sésr Qusdl sriseflid urgesTI9DsTs Fam®d s
GoDLULG aThs LGSude @l hausnans —

(A) Uef&aL g FTeneser : (B) Gepmé sreneser

(C) woesstareseaT (D) swser enemasar

(E) &lenr Qsflwelerene

With whom can we associate the folloWiﬁg quotes?

— “Be Educated, Be Organized and Be Agitated”

— “I like the religion that teaches liberty, equality and ijaternity”:
— “Life should be greater rather than long” | |
QA)/ Dr. Babasaheb Ambedkar

(B) Thanthai Periyar

(C) Karl Marx

(D) Mahatma Gandhi

(E) - Answer not known :

Epsnamibd eraumLer — @) bs ConCanedrsamar ng_-r'rqu BSsemb?

~ “se@eflwuble Quy, SiowiILTE et SieT, Heripeswp”

— “mrer el(mdLD mgmn@@ FSbHETD, F0Sg 0D, FCETSTSSIOUD %Qummmmcur@é@m”
— “cumpéens erenug) o wflwgns Q@rés Ceuar®G selly Bearorangns sioa”

(A)_ LrsLiT. urungrdll SubCugam

(B) shens Quilwimt

(C) &reb rTGED

D) warswLTETHS

(E) ellenr Qaflweildwvene
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69. Speciﬁc Experiments :
1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into
Red colour _
2.  Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour

3. Blue Litmus paper is dipped into sulfuric acid and it is changed into Red colour

General Law : Acid is turned into blue litmus red. It is called

Reasoning.
(A) Deductive (B) Critical
(C) Everyday (Mnductive

(E)  Answer not known

Apuiy unCergemearser :

1. S dllwe srwer amant Crr @gGarmfls Siflesdle paadsnd, Sig fleuliLing wrmib
2.  Be o6 srever &8me0lE SiflsS0 BaSSTD, Digl fleuliLing TMD

3. B e sreer b SWSHD FaTSET, g Heuliums LTI

Qumg 94 : yfewreg Beo Oilwey greer Heuliuns THMID. G

2 IBSHBD T SHDPESLILIHILD.
@)  vessd (B) @@psremid
©€) Saptampd " (D) Gzressm

(E) ofen Qsflwelcranen

0. Among the following whom can be considered as “an intellectual who anticipated
Dr. B.R. Ambedkar by two generations™?

(-A/ Iyodhee Thass Pandidhar (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar - (D) Jyothi Rao Phule
(E) Answer not known ‘
Epsremuaisaiie wri “LrsLi B.R. owCusser @Qrem® sooueons@rsE et
adiCrrsdu Sifleyert welsT erans meULOEDTT? '
A)  Cursd gmev LT ST ' (B) grggmymid Glomser gmi
C) meveuy #Hdly NGwnETET : - (D) Cgrdgmeu yCeo
(E) e&fenr Gsflweidvene ‘
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72.

73.

Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 19657
(A) Kamaraj ' ' (B) Rajaji

( Bhaktavatsalam (D) Sathiyamoorthy

(E) Answer not known

1965 & Qi erdlmiy Cumpm_L b BLibs Cung SUIPBHTL 16 WNT PSO®ESTTS @@p‘grrrr?
(A)  smwogTy ' (B) grggmed

(C) usseussed D) ssHwepisd

(E) eenr Qzflwellevaney

Thanthai Periyar passed resolutions for the welfare of the women in the
Suyamariyathai conference of

(A) Madras (B) Coimbatore
(C) Salem @#*Changlepet

(E) Answer not known

sheng Guflwrt swwflwreg wreT e Cuansefler FoassTs g]L._l_IEJa;GTT @uppliul L
@@L

(A) Quwigmev (B) Gsmubuggnt

(C) Gsaowd : (D) Qsrseul(

(E) e&fenr Qzsflwelidvena

Thanthai Periyar referred as the philosophy of Self Respect Movement to
(A) not having belief in next birth

(B) not having belief in God

(C) there was nothing beyond sexual pleasures

@)~ doing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the basis
of reasoning and also having the mindset to accept the implication of such
actions

(E) Answer not known

siHeng Auilwrgre swwflures Qusssslen $6g6uD eTand FanlLUL L g WTg?

(A)  woy dpile poEms @ B)(HLLI

B) @opeudr Bg BGGmS G moe G)HLULS

(C) Aopplearusdne Cuenearg eeamib @loame eretn &bseaner

D) ' ugssHeder sigliuamLule sgeasE fQwern BoLems OCFueug, Sieueurn

Qewigiler  saumsar  @ubder, UESsIBE — HMmSHsCaTaeng,  Cuaid
Sjeuaileneraisenar o HMISESTET(EHLD LETILITEIE,

(E) oferr Qsflwelévena
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74. Who preside& over the first Madras State, Self-Respect conference?

M Soundara Pandiyan
©)

(E)

M.R. Jeyakar

Answer not known

(B) Dr. Subbarayan
D) E.V.K. Sambath

psereug) Csaaman wrkle, swwflurms LIBT®LS smeabGuhmn g;l_gél@wﬁ WITT?.

(A)

(C)

(E)

Qaarbdly LimeuTig ui6nr

6TLD. <3 T. QEWEST

eflenL Qg flwellcrena .

75.  Match the following :

(a) Swarajya
(b) dJustice
(¢) Dravidan
(d) * Navasakthi
@ ® ©
A 1 2 3
B) 3 i
2 1 4
D 4 3 2
(E) Answer not known :
Epsearr_cuhenn @un@é@a& :
(a) swgmwT
(b) gevied
() Symellaor
(d) peussd
(a) (b) (c)
AR S 3
B). 3 4 1
(C) 2 1 4
w4 9
(E) eflen QzMwelierane.

GR1P/21

gttt S

(d)

H LW N

e O

(d)

G0 DO R

(B) L. slurgmuer

(D) .ei.Cs. sbLIS

T.M. Nair

T. Prakasam
Thiru.Vi.Ka
Bakthavachalam

l9..GTLD. [BTUIIT

g 9gsrEd

Bp.6i.5

USGHeU&FLD
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In 1916 ‘South Indian People’s Association’ was renamed as
(A) Home Rule Movement
(B) Madras Association

V Justice Party

(D) Dravida Kazhagam

. (E) Answer not known

1916 1> () ApenafpHu wéser HPsid aresaungy Genar AL
(A) senam & Quissd

(B)  Qsdnenan sRsLD

C) fHssr

(D)  HrreiL sipst

- (E). &leor Qg flweieens

Which political Association became known as Justice Party?
(A) Home Rule League

(B) Home Rule Movement

Q” South Indian Libera_tl:i.on Front

(D) -~ South Indian People’s Association

" (E) Answer not known

abs 2w @ BHsL Awrs wihlug?

(A)  Capmb me 6

B) Gapmb me apeQuoaT:

©)  soys @eimswan SLCTsen AyeR

D) sous Qe wen OyyiGeired oGsmAGuIsGT
(E) e Gaflweierene
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78.  Who first introduced Cartoons picture in Tamil Magazine?
(A) -~ Ramnath Goenka |
(B) T.V. Ramasubbaiyer
@/ C. Subrahmanya Bharathi
(D) G. Subramanya Iyer
(E) Answer not known

WPBET (PSES6) (SSRGS SLOLD @g,gg;a;aﬂéb..a;ﬁ]@asa UGS weur wri?
(A) Uwnggrrgb Camumer | '
(B) TV TG LIGLIWIT

(€)  C.suGyweamy Lms

D) -G &rutﬂl;rmaizrru_r sowIT

E) oL Osfuciaeme

79. Which of the followmg idea does not fall w1th1n Thantha1 Perlyars definition of

Civilization?
(A)  Accepting every.religion
(B) Trying for others also to get whatever good one has got
(C)- The total progress. of all human beings S
e &/ Progress based on the scientific inventions of today and making life pleasant

- (E) Answer not known

wraflah Qg}gf)]u.n speng Quflwmfer sumg'u_lémg)é;@@h 2 UL S S(HSSTESLD qurgj?l

B)  ieanss) weEB@ETLD GHOIEASTETEHE® -

(B) snmear Qeraw penenwoser Lng)g)mrras@a;@m I_IU_IGUTU@LD cuemauSlevmenr @pmg)éla;a)m
GupQsreres)

(©) &mmgg Lneﬁﬂg;rras@as@'mrrm @paﬁ@eﬁr[pmm :

D) Qeaewpw oiHlefuied 8566trr®|ﬁ]qul_|aae1ﬂ6mm) qrpu@m @WGW{D@@LD @asﬂsmmu_lrreiﬂ :

QUTDEMSILD

(E) el GsfMwelerena
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80.

81.

A)
(B)
©)

(D)

(&)

A.P. Periyasamy
Pandithar Munusamy

Irattai malai Srinivasan

Answer not known

Who started the journal namely ‘Dravida Pandithan’?
~ D. John Rathinam :

THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

glrmeSlL Liaimy sein eTeny LISHNG@sW S TBASSET WITT?

@)
®)
©)
)
®)

4. ggrem rédlend
6r.19. QuAwsmH

- UGRTIg ST (e

Qe wene Fafleumgen

alen_ AgMweldweme

HaGadrall whmd allen @y tpy allpars
algIni @palla par maldsiLL 2 darg).

Name the women leader who participated in the Neil statue satyagraha in
Tamilnadu in 1927 — ' .

(@A)

K.P. Sundarambal

@) Padmasani Ammal

©

®)

(E)

(A)

(B

(©)
D)
()

‘Muthulakshmi Reddi
Selvi Durgabai

Answer not known

Cs.19. sBsgmbLITET
ugloneneafl eybwomer
P e
Qaevell girssmumis

eflenL Qg Mweddvena

sllpssdler 1927 b yam®, B 2 (meu é]smsu &g,ﬁu_léi]ga; (Surrgrn_l_‘a_r,;_f,]a) sBhg GlasmeTL
Gummmﬂ (Swndl) —
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82.  Which one of the following statements is/are correct regarding Chenbagaraman pillai?
He hailed from Kanyakumari dist. of Travengore State.

He started Bharatha Matha Valibar Sangam

He married Laxmibai of Indian National Army in 1931.

R &

He Jomed the German Army and ﬁght against the English in ['world war.

(A) 1,2,3 are correct 4 incorrect
(B) 1,2 are correct 3,4 are incorrect

(C)  1,3,4 are correct 2 is incorrect

(y 1,2,3,4 are correct
(E) Answ_er not known

Elpaumid sapmsefe Qeamusymosr Perear LHHLI &fﬂ@rr&ﬁ SaDm [ FmDMGET Teneu?
58 Geuit Hmeuriiga Srfe saraflwr@ofl wreu L sms sTibgeur.
2 Geur uf%r;rg IS euTedlLIT FRIBID GTGET@LB <iewtieu Cempmedssmi.
3. Qe @by Csdlu Tramieisms snﬁ;i;g) L &SILTEnW -1931 @ @@mmm Qedig
Qs memrLm.

4, @ eur Qgr’rm.rreoﬂu_l uerL e Gsiibg o 2 eslCurfe miCowumse adies
Gumgmigesmi.

A)  1,2,3af, 4 seuprans

(B) 1,2 sflureng 3,4 seumneig)

€ 134 ér‘flmnm@ 2 w (Hib seupreang|

@) 1,234 sflwimeg '

(E) d&flenr Gsflueicdene

83.  Which Woman freedom fighter participated in the Madras salt satyagraha?
(A) K.P.Sundarambal (B) Muthulaxmi Reddi
(€#” Selvi Durgabai (D) Padmashini Ammal
(E) Answer not known '

s el g Gumyr L Quanearil Gui_grev 2 Uil s5Sunéliassa swbg Qe_;srre&m_rrr'r?
(A  Gs.9. spsyTHUTET ' B) szl Gyl
(C) Qeeedl girssmumi (D) uswrdlafl sibomer
(E) efenL Asflwelcreneo ' :
GRIP/21 - 44 i | D



Which_ one of the factors responsible for the South Indian Rebellion

(1) Company Reforms in the palayam

(i)  Economic exploitation and heavy taxation of the company
(111) Famine in 1798 :

(iv)  Frequent wars of the company

(A) () only .. (B @)only _
(C) (@i)only - (M), (i1), (i), (iv)

(E) Answer not known

Spaa sryesflsatic @gmeﬁﬂgré,]u_: a%]mrr&é]as@ STTERTLONS D DOHSI) s'rgﬂ’?
@) ureerwmseile swCueiudern FTdmssniser
- (11) TR Gurr@mrrg,rru SITEHTL_6D LDHJQ;LD @:g‘,]&uu}u_lrrem aufl Sl
(1) 1798 & gHuLlL LEHsD
(iv) sbQuel LSS Sig&siqwmar GUTiser
A} 6 BrBib B) (i) LG
(C) (@ii) wl@wb - D) @, @), (i), (v)
(E) oflen Qsflwaievena :

14

; , — these three for aye to rulers of the land belong”.
In the above Thirukural the word “These three” means

(A)  Education, wealth, bravery

(B)  Virtue, wealth, bliss

(G)/ Sleepless promtitude, knowledge, decision making

(D) Love, Decency, Affection
(E) Answer not known

_ @ibepermd
Brism ;f,]eusa’rrrm UeUD . - '

" Gupsramib SméEnata ‘@l_ti)GlLJQILD ‘@bepermid’ erareniid Glgme @;ﬁ]uumsu
Q) soed, Qgawaud, aiyb

B)  =ipw, Qumme, Qemuid :

(C) gusrow, saed, senfey

(D) ey, LiewTL, LTELD

(E) e&lor Gzflweiierena
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86. Whom does Valluvar call a fool, though he is learned and scholarly?

(A) = One who fears to talk in the assembly of the learned
(V O.ne who does not get along with the society

(C) One who fears to go to the battlefield '

(D) One who fears the rich .

(E) - Answer not known

LQSHHILD aﬁaﬂmrrg,ﬁr’r eTe susi'r.@su'fr wreyE s QEi?
A  eHCpmi é{smeuuﬂeb Glué S|EHEFF STmEUET

B) e @s58s1H @58 pl_é;asrrggsuému .

(©) (Burrfrééa;mgﬁ H@E&F Qe .g{@aaélsbrmmsmj

(D) Qaveubsamrs s () 2iEhadlaneiey

(E) oL Gsfuciidama

87 = —— These four a light of dreaded klngs reveal” What are the four virtues
- of a King accordlng to Thiruvalluvar?
"~ (A)  Creation, Production, Protection, Planning
(B)_ Morality,_ Wealth, Happiness, Eternal dwelling place
(V Beneficience, Benevolence, Rectitude and care for his people
(D)  All the above . | :
(E) A'r'l-swer not known

- Bren@ b 2 el wremmd Ceupsiée gafl”, erar QJGIT@G;Jﬁ creupenm CeurhsaidH@Hdh
S OTT?
@) @uips, FLe, ST, sEBAIEHES
B)  <=pw, Qurmer, @éﬁtum, ai(p
(C) . QasrenL, smener, B, HTTHS GlqE@aTE STHSW
(D) Cupsent . emeandsin
(E) edlenL Qg,rﬂ wedevene
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- 88.

89.

What does the followmg Thirukkural reiterate? “Who with deceltful mind in false
way walks of covert sin, The five-fold elements his frame compose, deride within”

(‘VanJa manathan Paditrolukkam Boothangal

Aainthum agathe nagum”j.

(A) False respect (B) False truth

(& False behaviour | (D) False pretence

(E) Answer not known

QL(eh& msa‘r,;&,g,rréﬁ Uig HEmmpSsLD LshiseT -

BHSID Si65C5 e - BHD aIdussILEE 52

A)  Gure wilwrens : - (B) Gumed gsn%rsmm.
(C) ~ Curel gupsésid D) Gumel Big iy
(E)  efeni @g,ﬂmaﬂé)ema)

What are the facts related to Hand Sanitizers?

(a) - most of them are acid based and not alcohol based.
(b)  they are flammable. _

(c) they are effectlve against spores.

(d)  itiscorrect to nicely wipe off hand sanitizer from the hands before it has dr1ed

(A) (a)and () only &) only

. © @only D) @only

(E) dflen Qsfwecvana

(E) Answer not known

s sgdleiuurer (Hand Sanitizer) Qgmiumer 2 grensamers Cairey GFwiwey :

(a) Qu@munsorrémmm 2l gL ETThEsMe, ROSADTH SigqlIL@L EMTHEmel
S,

(b)  siwes parDTS .ﬁﬂmé}&qmmm.

(c) Y @g,s‘h@ﬁl@ga;@é;@ erélyner Qewgnssnd Qarear_mel.

(d) ossdlle 2drar ‘@sasHafume e ambd waGu igmen BETDTS masasaﬂe&@pgj
- e uug acrﬂu.rrrm@grr@ QFwed p@Lb.

@) (@) i (©) w b B) ® wi o
© (@ weid S D) @uien
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90. How does Thiruvalluvér guide us to overcome trouble?
(A)  Accepting trouble |
(B) Fighting trouble
(€#” Giving trouble to the trouble
(D) Feeling Remorse for the trouble

(E) Answer not known

sleugens ereueumy Qeucred Geauear(Hbd eremm l(peuet@heu ApHLILGSSSHDTT?
Q) UG ghnsAsTerensdm '

B) eadrss CurprBged

€)  geausdne gemiw dardse

D) gemusder Curgl aumbHSISD

B) " et QpRiselideres |

gl Irandum Thangaa Viyanulagam

Vaanam Vazhangadhu enin”

(Though the wide world lease i s : If heaven its watery
treasures cases to dispense) '

What are the two good deeds that will not happen according to this kural?
(A)  Charity, Love (Dharmam, Anbu) I

(V Gifts, Austerities (Dhaanam, Thai«‘am)

(C) Penitence, Pleasure (Thavam, Inbam)
(D) Virtue, Money (Aram, Porul)

(E) Answer not known

__ Quet(hid SrisT GQUJ@]GUHSL'[}

QUL GuPEISTE) erafler” : _ :
Gupsrenid §héEner aeelomasd paLQUDTE e E I EET
(A)  sfio, ey

(B) smanb, seutd

(C) seubd, Gamubd

D) b, Qe

(E) e&lenr Gasflwsicvena
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92.

93.

What are the symptoms of COVID-19?

(a)

b)
(0
(d) .

(A)

)

(E)

Fever, dry' cough, fatigue
Loss of taste

Sore throat

Breathing difficulties

(a) only (B) (b) only

@ only Q.0 ©ad@

Answer not known :

&@EI‘F@&) 2fl@dlsafer Gameil -19 Qg,m_.r'rurrmsmsu GTemeu?

(a)
(b)
(c)
(d)

A)
(©)

(E)

A

®

©)

smuEsed, aupl (O @ mLe, Germitey

senel PlLb Smer @Qevemoed Cumeug

QsmanmenL_ cuedl

- pp&s el (Peudley Sl
(@) v @b ‘ (B) (b) wi -
(d) L@ B D) (a), (), (©) wppd (d)

ellenL W fweicrene

_ Pick out the effect that is not related to the irﬁpacts of Earthquake.

Fissures
Collapse

Tsunamis .

(DV Depression zone formation

(E)

A)
®)

0
D)
B

Answer not known

. L._gas[ﬁu urglliysCerm(® Gam_iunm elleeareneu Wsfle] Wewis.

Yereyaserr

: SEJLOL_L LOMG6D

SeTLlSerT
STLPE] LOGITL VLD 2 (HEUNGED

edenL Ggflweilcrena
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94. Whom does Valluvar refer to as blocks in the kural
“Arampolun koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)

~(A) Those who speak useless words
(MThose who are void of humane courtesy

- (C) Those who do not have love in their hearts
(D) Those who cove;c others things '

(E)  Answer not known
“rCurgLd FalTE@LOWl Creagid ybGumedeu”
Loy CUTETDEUTEET GTET) GUET(EHEUFTE) @gﬁ]ﬁlﬁﬂt_mu@uaur'r wim? .
(A)  uvwelle eme CuasLeT
(B) D& 6T ;_laiuru Goorgeur
(C) eissEe e @eerseaut
(D) Wpfler QurmErsE peneliLiBiueuiT
) e Qaftame

95.  According to Thiruvalluvar ‘what is friendship with the good’ combared to?

(A) Having friends who make our heart happy
(BV Having books that give perpetual delight
(&) Having a face that shows anger

(D) Having a staff that measures one’s friends

(E) Answer not known

vl @smmib ueTL e wireTT Qam_m] erens s CUreng) erer $(mHeueT(@heu aaxg}gé]pf)ﬁr'r?
(A) Qwé;;r;as pLug Gureanmg) I | | |

(B) pelle@smmid Hired Huihd @ersiﬂgjgj

(C) s0és38 sr_Bb s Curans

(D) a‘ﬂsm@‘r@cmﬁ Blig @eriiuCsi Came Gumemps

(E) efenr Qaflwelidena
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The saying “Thirukkural” has a balanced religious quality is because

b People from all religions say that it belongs to them

2. Because people who say there is God and people who say there is no God
accept 1t whole heartedly

3. It is beyond Type, caste., religion, class

4. Because it writes about ethics and knowledge needed for human race.
(A) Only 1isright (B) Only 2 is right
(C)  Only 3 and 4 are right -~ (RQ)All the above are right

(E) Answer not known

‘Fow pHEl@oL Lar AsrarLg HmaEEnar crenumt @)é&sm hHmiéE &ryeid

B ETRNE WSS G 6Tlb HI6 ereim samitd APy QuppsTeD

2. sLeyar 2. awr(h ererueu L HlenHl @levene eTemUIBL 2 Qb FHELD ALyl
- Qubmsmed ' :
3. Ganid, 578, FLOWD, euELIL] erevemeudMIN@GD SILTHLUL L SiTed

4. wafls @arsHpEL Aungiaurar @wésepb. @ifleib SflaipssiLGegTe
(A) 1w @ sf ke  B) 2wl @

£ Bonyinde G : D) simansgb &

(E) efev @grﬂméﬁieﬁmm .

.'Who 1s the author of the novel ‘Manalveedu’?

(V Anuthama : (B) Bama

(C)  Ambai - ¢ (D) Indumathi
(E) Answer not known |

‘eawted 65([) erenm Hreuetlen <y AMwim wirm?

B) o ' B) o
©) uwdeu o (D) @psiod
(E) e Gsflusioame
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98. Which of the following book received Sahitya Academic Award written by Melanmai

Ponnusamy?

(.V_ Minsarapoo

(B) Kalmaram
(C) Ahayathukku adutha veedu
(D) Appavin Sinekidhar

(E) Answer not knde

Gueanearew QureaigyFsmdluder srdlsuwl =i5105.8 ufls QuDHD ueml;f_lq 6T&I?
@) Sewmiy

B sowrD |

©) wsmusssEE 055 S0

D) eiuneder ACHAsiT

B o Osfucisnm

99. Who wrote the poem that has this as the opening lines
— Anbu Sivam irandenbar arivilar? .
(A) Pathir_akiriyar
(B) Pattinathar
(C) ~ Bharathiyar
(D,V Thirumoolar

(E) Answer not known

R (W éﬂG)JL{S]IlIGﬁS_T QLenus glefleom

— cTané QBTG LTL_aneL) urru;ru_leur'r wim?

A)  usSrdRumt (B) uLlarsT
(©  umBun | D dower

(E) el Qzflweldene ' ' .'
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100. Which of the following epic describes the significance of Thamizhar’s music?

(ﬁ/ Silappathigaram

101.

B)

- (©)

(D)
(E)

slpisailar @mes Aplifeer (S MIEELD STUSWD 61g?

(A)
(B)
©)
D)
(E)

Manimegalai
Neelakesi
Kundalakesi.

Answer not known

- Seoliuglemyib

e Gseney
ﬁco(;‘ia;'aﬂ
@G&DTLGUG&,@ :

eflenL Gg,ﬂu_leﬁlebemsu

Who among the four Nayanmar made his heart the temple for Lord Siva?

N

: (B/Poosalar '

(©)
@)

(E)

eSS SleugisEé Camuiled &L igul .'I'_I')ITU_IGEHLDWI:T wimr?

(A)

(B)
(©)
@)
(E)

Kannappar

Vaayilar
Sambandar -

Answer not known

 SEOOTERTLILIT
Qgsurrr'r
eumulleomm

FLDLOBSIT

 eflenL Gz flwedaweane

53

GR1P/21
[Turn over



102. What are the characteristics of a classical language?
(a) It has an independent literary tradition
(b) It has a large ancient body of oral literature only

(c) It has a large and ancient body of written literature

(A) (a) and (b) only B) ((b) oﬁly_
(C) (c) only Ma) and (c) oniy

(E) Answer not kn_own
S QabCwmflufer Liamsers SLpsmamib G_FG@(&JGFEU,FEJGU}H)I @@QLS]L_GUHLE)?
(a) &gﬁﬂ roren/ seflsg) Alerbigd QoL Lo

(b) Qumbd uveweLw wpmn erniGomfuiorar Qesdwu umbufusms WLEGCW
Qsraw g :

(¢) Quembd LamerLw HMID erpsLL L Qeddwu urrbuflugsens Garar g

A (@ oppid G) we G B O 6o
C) (0w @b ' D) (a) wHmb (¢) L Hib
(E) &fen Qsflwefeeme :

103. Which characteristic is expressed in the 'Perumpaanatru Padai' Verse?
("Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin Thanin rooti")

- As the Mother willingly watches over they Child. Himself stood in the opposite
direction and saw

‘'(A) Charity (Kodai)

(B)  Valor (Veeram)

(C) Motherhood (Thaimai)

(VHospitality (Virundhomputhal)

(E) Answer not known :

“waapany wapen CHrrsd (PSLITHE e aﬂ@u Geor ;Srrsa‘fl%irr onig”
— QuQu@burarmhmtiLeL. LT el erliua Qeseluu@dng?

(A) Qsmeor
B o
(©€) smuew

(D) AmBCEasrbLsed
(E)  &flen Qsflwelcvena
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- 104. According to the evaluation report of Niti Ayog related to Mnnmum Support Price
(MSP), which of the followmg statement (s) is/are correct?

(@)  MSP is declared before the sowing season.

(b) The idéa'behind_ MSP is to give guaranteed prices to the farmers and save .

them from price fluctuations.

(¢)  With globalization resulting in free trade in agricultural commodities, it is not

important to protect the farmers from the unwarranted fluctuations in prices.
@) (@, (@ only
&7 (a), () only
© (@ only
(D)  (c) only

(E) Answer not known

4] %(Bu_irrasé]em @mmgguL& 2576 sﬁlsmeu (MSP) @g;m_rrurrsm mﬁuﬁ@ é{@asmguﬁsm Lilg
Eparamid 6755 g/ sapmiser eflwreng/sflumeiene SGD?

(@) “@onpsul s sre) dloe” efmsliLs srasdne wartu @iMelss 1ILEID
(b) “émmgguu_& 96| ellene”uden G'[F)IFTSS&IISL-D @9]@1%@5@&@ aSlemev a‘ej,gr,rmrrg;m.
| ' Sjeflling) <,@b. =2
(© o eswLbTESETTED gpuL(erer smiE soLWHY eissasslen alamarens efleusmw
Qummearseiler  elewerude gHumD (Bg,_emmu_lg'jg) ghm  @nésmseafiea @@;ﬁgﬂ
.aﬁlmgnuﬂas;mm sTUUSG Pp&ELLDD6 . . '
@A) (@), © mee
B) (a), (b) L G
(©)  (b)wiEn
D) (o) vlEw
(E)  eflen QzMweilevena

B i : 55 ' g GR1P/21
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- 105. Accordlng to Nobel Laureate Abhijit Banerjee (Econom1st), what is the only solution
to overcome the economic pain in the short run in the wake of Covid-induced
economic crisis? :
(A) - Putting more money in the hands of big corporates
(B) - Giving more tax cuts for big corporates -

(Q/ Putting more money in the hands of poor
(D) Giving more tax cuts to the poor
(E) Answer not known :

Cprue ufled Qupp QumerTgmy @vx;g‘)]@rr &Lﬁ]s‘m@lg Gumn@uﬁ]m @ pOILiU., GamedlL.
QumBASTHDTE Qurr@@‘rrrg,rrr,r Apmésy goul_Heaerg. Qbs OBmSsiILTD GHLL[HeTer
QurmeTTs™ eusllen GnEL sTe SgliueL e sLULSHETEN STaITs Djeul &g ur@?
' A) Que Hpeamsefe mssafle oigle Liamd Qarawr(® Cariiug
(B)  Quem HpeuamseErsE eufl G@puy deliaig) '
(C) gey ereflu wésaflen amssaild ids Lewd Qaranr(® CamiLg
D) goy aaflw ésEREES aflGampLliy Qeiieug)
(E) &Senr Qsflwelereney

106.- Regarding the Indian economy, whlch of the following reflect, unprecedented
suspension of economic activity in the f1rst quarter of this fiscal (April-June) due to
, the Covid pandemic -
(a)  Contraction of around 50.3% in the construction sector
(b) Contraction of around 39.3% in the manufacturing sector
(c) Contraction of around 10% in the agri, forestry and fishing sector
(d)  Contraction of around 5% in the Trade, hotels, transport sector

& (a) and (b) only (B) (a) and (©) only
(C) - (b) and (c) only : (D) (b) and (d) only
(E)  Answer not known S :

o @pdu Qurmarsmsms Qurnss ey, Carelll CLM®BBESTHDTED Qs HHunenmqer (psed

- sme uEHue (gliged - gen) @urr@mrrg,rrr,r rr_r;l_suqaaemese};mﬂco ey ruCUrgIDd Qs
QLD (PL&ED FHULL ).
Eharamib smhpisailes aeney @b gsﬁmmmw"ﬂnﬁuaﬂéﬁa@m?

- (a) &sL_(Hwrer ueflgaflen &onr.50.3% &®msswD :
(b) a_ﬁ)ugﬁ._gjmmuﬂeb-amrrfr 39.3% &(m&sLd

(©  Geernaimenio, auareQuied hmibd Bereuer 2 HuSH QD aomr 10% smosd

- (D aigssbd, shiEd eI(E /e ameusd WHYILD CusEauTSE glevpaeha & 5% &(mESLD

@A) (a) wpmid () e Gid B (@) whpid () wLED
©  (b) wpmi> (©) 1G> D) (b) i (d) Lo
- (B)  olen Qsfluefremer ) :
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107. Which -oné of the staterﬁent 1s incorrect r-eg_arding the mesolithic period.
1. . Itis the Stone age between Paiaeolithic period and mesolithic period.
2 They used tools of made up of Keny Small Stones :
3 _.The Theri Kadugal of Thirunelveli region belonged to this period
4, Tlﬁs people burned their Dead bodies. | -

THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE

: (A) _1 only _ ; ' FOR FINAL DECISION.
(B) 2only '

(C) 3only

(D) 4only

(E) Answer not known

Epsa_masaile @& sparobd UpHlu ampnseties seupreang erg?

1. @e’s’a;rrsuLb LU EHETOSEIEGD LG HSTOSSIEED Qe UL ST
2. @ibwéser 0&E APw speaTTarer smelsmar LGS e

3. Hnepatad wral Lo sramuu@b Csfs srhed Gors spsTasms FMIHSTE

SEEILEADS.
4 @isre wésa @pseisee b

| L piCsduNujg e Gy penalljsre
(A) 1wl G - . : - aogipr gopella (par el ssiuL 2 drarg).
@ Zicon | '
C€) = 3wl @b
i) b

(E) efer GpfluaSicrensn

N | ' 57 ' 5 GR1P/21
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108. Match the following :

(a)
(b)
(c)
(d)

Backwaters
Canals
Dug out Canoe

Dams

@ . @© &

&4 3 2.

B) 3 2 (B
©) 4 2 3 v
e RS e e

(E) AnsWer not known
QurhSEIs :

(@) s : 1
(b) smeveumis el
e @@5&61}6urrm 3
@) siensar i

)
®B)
(©)
(D)
(E)

GR1P/21

@ ® © @

4 3 2 1
3 g . 1 4
4 2 3 1
3 4 2 1
eflenL Qg flwelldvene

1. Linking up of river system for irrigation
2. Used for crossing broad river
3 Connecting one water way with other

4. Used for some limited navigation

.%rj)emg) Lngansd Hens LwaLHSS

Quilw <ypherm L&
@@ B auflaw whnCsn( Qameanss

GnSw SjerefhE e Hir Gun‘és@mrj‘&,g,j -

58



109. Choose the correct statement related to recent Bank mergers in'India

110.

(@)

(b)

A

(©)
(E)

Large Banks will be able to borrow more from the market and thereby help
the economy revive.

Bank merger will lead to increased operational efflclency of the banking sector

(a) only _ @) only

(@) and (b) "~ - : (D) neither (a) nor (b)

Answer not known

'-@Mﬁlu_ma&lsu sfu  sromisefd rrr)mL_Gu@JLD audl @ evewTiiL @g)rn_rrurrem ahrpgja;aﬂ@u

sflwranens Csia) Gawiwayb.

(a)

(b)
)

© -
(E)

Quilu eumdlesear sheasulelmbg 1swLns aaL,sEsT QUTRIGD Smerm - QETeaTL_eneulns
B m&EE D ereugmed, dummertgyd WAL Hésiu@Gb.

cuiidl @eentliLy, eumdls gion@en Qeuidpeear 2 WTESID.

(2) o0 (b e B) (b) wLED
(a) wHmibd (b) ' (D) (a) Qevene (b) Qevana
- dflenL Gz flwelcvaney ;

Who stated "Man is born free, self Reépect 1s his birthright, Social Justice ensures

social equality".

W Thanthai Periyar

B)
©)

(D)

(E)

B G Tilak

Kamaraj

Omanthurar

Answer not known

“weaflger sspdrors WAnsSprer,  sw Lnrﬂu_arrsmg; aeusnﬂm Lﬂpuqrﬂsﬁ)m sepashdl  Feps
gsglausms 2 MFLIHSSID” eremm) &Ell’f)]LLJGLII‘I’ WIr? :

@)

B

(©
D)

(E)

speng CQuiflwimr
urren&sréiasrrg,r;r Hesr -
5nLﬁ]‘;rr%

@uopgT

elenL Gaflwelidvene
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111. Regarding the word ‘Fraternity’ in the preamble of the Indian Constitution, choose

the correct statement(s)
(a) It l-eaves'no #06m for regioﬁélism
(b) It leaves room for communalism
L I(c) It leaves no room for casteism
@ (a) and ()
B () only
©  @and®)

D) (c)only

(E) . Answer not known

@bdluw &U&mmmmmﬁaﬁ wargimruie uwaudssSIUEDL ‘FCarsrsgieuDd’ GFGBTQ). Q&men
i b B s DG DS e e

| (a) . 8 ﬂgﬁﬁ,@m@ng,gé]ﬁ)@ (@L_m'srﬂésar@

(b) &Q'm@uuw@gm@ Y wafléeb

© o srfuanssSie GLweibsns.

@A) (@ wpg ©

B)  (b) wlPw
© (@) wppid ()

D) (o) LW |

(E) aﬁlml_@g)rﬂu_l@%osmsu'
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112. Arrange the Chronolo_gical order
R o Champaran Satya Graha
2 Kheda Satya Graha .
3. Ahamadabad Struggle
4. Baisaki day :
At By 2-1-3~4
T IS T S : Gy 3=9-1-4""

(E) Answer not known
Spsar_aipenn sreaiflasiuBés)s.
3 &TDLI gnéifr ggSwr Hysb

2 CalLm &gﬁ,g‘,]urr Sysbd

3. SjswHTUTS CUTFT_LID

4. enLigndl BT | :
A 1-2-3-4 : : B) 2-1-3-4
Voe A et g (D) 3214

(E) . efenL @g,.ﬂueﬁ]éosmu

113. Narh_e the biographical work of Abdul Kalam Azad which was written during his
internment in 1916. :

(" Tazkira
(B) Kadith
(C) Hayy Ibn Yéqdhan
(D) - Kitab al-Miraj
(E)  Answer not known
1916 <yib yaiged Ampeurssdear CUTg eTUpSILILL IUGID SMTD UETSHET CUTLEMS
Fflenguflen QLI eremen? :
(A)  segdlgm
B) srds
(C)  an Quer wasTen
D) dsu e';{LE»iJ~Lf51r;rr% _
(E) eflenr Gaflweiivans

n ' 61 | i GR1P/21
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114. Who produced the greatest work Tarjuman Qur'an [a translation of Qur'an from

Arabic to Urdu]?
(A) Dr. Zakir Hussain | (B) Fakhruddin Ali Ahmad
(v Maulana Abul Kalam Azad (D) Mohammad Ali Jinnah

. (E) . Answer not known

sregOnar @igen [Gropaflar <@ Qurnhuldmbs ema Cwornfss Q&Luuuul_l_
an@@uwnuq] erenim L0&& Amps UL LGemen o (meurddweui wiri?

(A)  Dr. & o angerr - - B) JusmsSen el NI
(C) Quererar 26 SMD égpe}rrr&, (D) @anbws 216 sYlenerman
(E) d&lenL GQgflwelerensy

115. Which of the following statement is incorrect regarding 'Moulané Abul Kalam Azad?
1 He was born in Calcutta : = . .
2 He was the editor of the Magazine called 'Lisan ul Si-diq'
3. He published a journal namely 'Al hilal' _
4 He was elected the president of the Indian national congress in 1923 and 1940.
(A) 2, 3 are correct 1, 4 are incorrect '
(B) 1, 2, 3 are correct 4 only incorrect
L8 S 2 3, 4 are correct
M 2. 3, 4 are correct 1 is incorrect

(E)  Answer not known

Epsa_ sapnisaie) QLETETENT DS 4&TS DB SeupTear sahm 6rg)?
1. QLaTeraTT SiLUOSOTD 24 &Té assvaag;g;rraﬁlm DB
2 Qleurt ‘elamen 2 6 fsHa eremm LSS MEevsu e uﬁuun@rﬂmﬁ'é&ﬁunfr
3. Geui S dle erern GFemLp @@Jmﬂ'ugt'_r_rrr'r '
4 Gair @pdu Csflu srmisdlgevss 1923 wppnb 1940 b ya@rdseia g;cmeueugrras-
CambOsH&ssruc L. e
(A 2, 3apmser sflwraremey 1, 4 SUDTATENG :
B) 1,2, 3apmsd sflunamema 4 g aaw_[ogy UMD TES)
C) 1,2, 3, 4spyser sfiluraeeu '
D) 2,3, 4smppser sMuremamal leug sahm SeupTes
E) e Gsflueivma :

. GR1P/21 - ' 62 ' n



116. Which of the following day was named to celebrate the release of Bipin Chandra Pal
by Swadeshi Leader of Tamil Nadu.

~ (A) Day of Deliverance (B) Day of Mourning
'(G/ Swarajya Day i, (D) Direct Action Day
(E)  Answer not known : ‘

£Qasaﬂm_ abg Bretrs Guder sharutd elhsame Q&Luu.luul_L_ ‘r_r)rrsmm slps &G5H
- soaeuirser Quwifl i L eri?

(A) @9@;&36&'}61) BTG : (B) gi&s SHenibd
(O &(—Bg,@ Slemd : ; (D) Gprg pLsugsens prar
(E) &lenr Gsflwelerane ;

117. Which one of the statement is correct regarding Bharathiar?
1. . Bharathiar participated in the Indian National Conferance at Kam in 1905.
2. In 1906 he started Balabharata Sabha at Chennai. '
3.  He participated ‘Surat Congress' in 1907 along with VOC.

4. He composed the Poem ‘Vangame Valiyave’.

- (A) 1, 2 are correct 3, 4 are incorrect
(.V 1, 2, 8, 4 statement are correct
(©) ' 1, 2, 3 are correct 4 is incorrect
(By:= 1, 2,3,4are incorrect statement

(E) Answer not known

urrq(@%]mrrsmr,r umi Spsear gmpmisatie sifluireg) erg)?

e urpdwrir 1905—e srflude pevL_Gunm B Cadlu smEsTREG sQbS QaTaTLiT.
2. . iU 1906—6 une LMy U eTaTy Biewliemn deaemanie ghubGglenir.

g et 19070 () &rd srhidlren sal LSSl au.e 8. w6 sobg) CsTarTL .
4, i ‘@isto aumBwGey’ eremm LIMLened @uibilujeTearir.

A) 1, 2 mpmser sfwraneney 3, 4 S DMIEET SeunTeaTana

(B) 1, 2, 3, 4 sspmser sflwrarenas

(C) 1,2, 3apmser eflwrearemes 4 aigl spm SEIDTEIS)

(D) - 1,2.8,4 ahgbgjalsei'r SaUDTEF)

(E).  aflen @g,rﬂmaﬁlc.fosma}.

e | R GRIP/21
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- 118. The Editor of Tamil daily Kudlarasu.
(.&/ Thanthai Periyar : ®B) C. Rajaji
- (C) Satyamurti ' (D) * C.N. Annadurai

(E) Answer not known

Sensfl prefgipren @i wirdlen c%@:ﬂujﬁ : _

A) spes Quilum - (B) &.ggrgd

(C)  ssHwapisd : D) &.orén. oi@TaTZIEDT
() oL Osludome. '

119. Name ‘_che person who threw a bomb along with Bhagat Singh on the Central
- assembly in Delhi? :

(A) SukhDev . (B) Rajguru

(C) SohanSingh - _ (@”Batukeshwar Dutt

(E)  Answer not known

@Léoeé'luﬁl_ef o drar WwaHW FLLwansHen L5g) I'ua;({f,@réj@:_s'crr_@@m‘rf@ Qalg@ean®H eiflw
mufler G eremmes?

A) s6CGsa Y B) @rRen

(C) Gemamer & (D) ul@ECseyeur 55

(E) e Gsflwelerane : :

120. Rabindranath Tagore renouncéd his knighthood in_protest against.
] (A) Home Rule League | (B) Khilafat Movement
(GQ/ J alli.an Wala Bagh Massacre (D) August Declaration

(E) Answer not known

reSpApns sreni aspe ety Asfeliss sag LLL gos sppent

A)  Gapmbd me S B) Aorus Guissd
(©) gréwer ameruns UBHOsTE® | D) sysevl sifléms |
(E) efenr Gsflwedieveney
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191. Which one of the statement is correct regarding the Subhas Chandra Bose?
1. Bose joined the freedom struggle under the leadership of C.R. Das

2 1921, he organised demonstration in Calcutta to protest against the visit of

Prince of Wales
3. - He boycotted the Simon Commission in 1927

4. He sorted on the Secretary and President of Bengal Congress

(A) 1, 2 are correct 3, 4 are incorrect

(V 1, 2, 3, 4 are correct

(C) 1,2, 3 are correct 4 only incorrect
(D) 1, 3 are correct 2, 4 are incorrect

(E)  Answer not known
Epsa sppseile sutey sply Cumeen umhd eflwmer sahm eTg?

=T surey shdly Gume, Sy sTed soeamouid GhSlu aﬁl@g;émw Gumym_ L $&e
G enemrHSTIT
2. 1921e Gm@b-sfu @meu&&r‘r FOS55TaLEG auBs Lfibs CuTgl ardliss) APLPSSLOIL LT |
3. 19276 Gm&u;eiﬂ sdlagamaern @eul LnésaiSSmT

4. cumIsTeT sl Ferdled @&umnmqw&smdﬁ, S@OAFTEE|D LU cudlssmm

(A) 1, 2sf 3, 4 geupreng

(B =1, 2.3 4&ﬁ1_yrr6m g

(C). 1, 2, 3 sflwner sapm 4 eunTen sahn)
D) 1, 3 sflwner sanm 2, 4 ‘e_r,eug)ngﬂ.aaxﬁ)gj
(E) e&len Gasflueilovena

| ey 65. - e GR1P/21
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' 122. Regarding the Poona Sarvajanik Sabha consider thé statements.
. L Mahadev Govind Ranade was tﬁe brain of the organisation
2. The Sabha éwakened the people of their political rights.

3. It protested against the V;ernacular press Act of 1878.
4. It publiéhed ‘Aniri_ta Bla-zar Patrika’. -
Which of the statements given above is/are correct?

B ot
(B) 2 and3only
& 1,2 and 3
(D) 1and3only

(E) Answer not known

LpeoTTT site meeflé senuis L H(HHHe Cemdrs.
1. warGge Carellbs yramGL Geaelusssdar apmerunss Qe Lri
2 @é&sanu wésaflean <ipdlwe o Aeawasament ugb;ﬁ]@ aﬁ]bﬂﬁumr’rmm ng’ju@gﬁug
3.  1878b .%m@'ugg Néewas st Lsws adisss
4. @euelussind ‘oibflg Lt ugasT Gréisr@ub usdfsemsmu Qeuafludl 1 g
Gl AL auréd wéSe sflumenees araneu?
A) 1 wpyid 2wl
_ B) 2 wpmbd 3w @
C 1,2wpmb3
D) 1 womd 3w G

(E) el Gsflwelerena
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123.- Which one of the statement is incorrect regarding Gokhale?

B
=2

(A)

He started “Servants of Indian Society” in 1905

He went in to South Africa and helped Gandhi in his movement against

Colour bar

Gandhi accepted Gokhale as ‘Political guru’

Gandhi described Gokhale as diarriond of India, the Jewel of Maharastra and

Prince of Workers

1, 2, 3, 4 are correct

'(V 1, 2, 3 are correct only 4 is incorrect

(©)
(D)

(B)

1, 3, 4 are correct only 2 is incorrect

1, 2 are correct 3, 4 are incorrect

- Answer not known

&Qaﬁa&'ﬁﬂ_ aalﬁ)gjéssxﬂéo CansGaenw LD Heumrer mml 6rg)?

1.

2.

(A)
B)
(©)
(D)
(E)

GaraCa “@BHw Lemflwimer SLpai” erenD <ienwlient 19056 @fﬁ)u@‘&,glemrrr'r

.@GLIF'T Qaen =y LdflissrelnE Glasmm) ﬂ@@w@mm dlidg srHSuLen Glaenhg

uenflwrHbl e,
smhé CaraCamw sag ‘Drflue Gmeirs enmié CameabrmT

& (Ea;rra;@@smu_i Qndlwnellen eveurid, Lnaaijrr@'splq_l;rrréﬁl@ Bens, Csmlemerigatler

@crreul;réch'sre‘mg euemti&Slenmmmi

1, 2, 3, 4 spyser sNuranene

1, 2, 3 shmiseT sflwrarenel 461G sapm SEUDTAS)
1,3,4 &hﬁ)g}a&ﬁ% sllwrerenel 2618 DM SEUDTEIS)

1, 2 sapmser sfwraneneu 3, 4 éug;j FaDMIFHET SEUDTETS)
HenL QsMwiefee

g _ - GRiP@I
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124. Who served as British Ambassador to the Mughal Court?
(A)  Bernier (B) Edward Terry
(C/ Thomas Roe = . (D) William Hawkins
(E) Answer not known :

peorw srsmeluder 9N g 6y GrgieurTms ucﬁuﬂurr;i)gﬂu_lmr'r wim?

A) GQureflur Vi (B) erlauii Qg

(C) smoev Gy e (D) eNevedluwid ammsdlenen
(E) &Yerr Qsflweiidvenaw

125. Who was called the “King of the Two Worlds”?
. (A) Tipu Sultan (B) Hyder Ali :
(G./ Doondaji Waugh (D) Veerapandiya Kattabomman
(E)  Answer 'ndt'known ' :

@r;am@ 2 EMHGLD ATEFE TN DILP&SLILI(HLIGUT WITT?

- (A Huy seogren (B) eans oiell

. ©C) grawmed eurs I (D) eSpumesriqw s GQumbLoe
(E) oo Gsflwelevanen | .

126. What is Density of Population?
(_A/ The number of people living in pef (one) sq. km.
(B) The number of people living in 10 sq. km.
(C) The number of people living in 100 sq. km.
(D)  The number of people living in 200 sq. km.

(E)  Answer not known

&5 Qgnens Cemle eranmme ereren?

A)  owegr HCeor 5L A &G wsaflen aravanfléams
(B) 10 s5y ACor BL e audlés@ind wisafan eraimanfiaams
(C) 100 &gy &Gar B Med cudl&id wésaflan aramentléms
(D) 200 #g)7 HCar B LA audlé@ b ésaflen cramanilsms
) oo Qefucidene ‘ |
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127. In 1929, at a ‘Self Respect Movement’ conference in Chengalpattu, Thanthai Periyar -
- passed a resolution relating to an important matter —

— In 1989, 60 years later, Tamilnadu had passed a law in thls regard.

— On August 11, 2020 Supreme Court passed a ]udgment in this regard.
What is this?

(A)  Giving equal rights to woman in Government employment

(Bf Giving equal rights to woman in family properties

(C)  Giving priority to certain communities in acquiring land rights
(D) Giving priority to certain sects in accessing holy places

(E) Answer not known ' :

1929 b opan@® Gsmsduliped smiLuull swnflutes @Qués LIEML KD, SHMS
QuAlwT @it wadw efLwib AsrLiurer Sioreados GuiddlarnT.

— st 60 SaETOSER5E NDE 1989 24ib Sy 6, SOIPSLD Sigoar sLLLomE QuDBluig).

— gysevl: 11, 20206 2 FeBdlioamd ig Ggm_rrurrem {_f;rruemuu_]m eu%prmaﬁ]ugl

GuesTapidb Ll smpuut eflwib wirg?

(A) Quemen&E 2irs Geuened eumiiLi9év 1o o Mepio

B) EObUsTsHe QuarTamisE sw 2 flew :

©) emnéae &@aaréaa@é;@ Hleod 2 fenio QupieuSled peeflaio

D) gmde GfesEnssE Lels @s_m&aﬂso mewpade apargfiewn

(E) eflar Qsflwefdme

128. As per Vel Pari’ the book written by Thiru. Su. Venkatesan, the Sahitya a'cademy
winning writer

(a) “Paari” was a man of _nature who knew birds, insects, plants like the back of
his hand.

: (b)  The story “Vel Pari” was that of conflict between man’s gTeed and nature.

Which of the above statements is / are correct?

(A)  (a) only _ (B) (b) only
(& (a) and ) (D) neither (a) nor (b)
(E)  Answer not known

Frdgw  Dism Ll @suasrm erpssrert Hm. & QeukisGLaen  leusermed GrEpSLILILL
“Geuerr umﬂ eremp Eedlen Lilg. 2 eTer sMwimer sapen / sapmsener Caire] Gaiwey.

(a) urf” Upeeuser, LiFSseT, sreupmser dweupenn LuHDl Qsafleursald, eflfleunse|n
@mﬁ]mﬁ@gg Quipens aihs LaNST e
()  “Geuerumf” seswITaTg) DETSEH 6T Céuljrrem&a;@m @ug}ma;ea@m @mL_ufﬂsurrem (prenewT

- uePSTHDIEDS). j
A) (2 wilbd (B) (b) wi B .
- (©)  (2) wppd (b) D) (a) ayb oee (b) Yb Goewe

(E) eflen QsMweilerena

n R T GR1P/21
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129. With regard to the review related to the Tamil Film and master piece ‘Pariyerum
Perumal’, choose the correct statement(s)

‘(a)  Shows the ill effects of caste system

(b) - It won the Film Fare Award under the ‘Best film’ category

(c) It was a movie directed by Thiru Mari Selvaraj and produced by Neelam
productions. _ |

(A) (a) only (B) (a) and (b) only

@ (a), () and (©) (D) (c) only

(E) Answer not known

so@flnhg v Lurer “LAGupd Quwrar” eramp s8H Heru b unMu efwisab @;ﬁ]gg
Epsramibd smppiseiler/smphle sflurareupean Coirey Qaiiwebd

(a)
(b)
(c)

R GY
(©)

(E)

QuuL b sl s1L_enwolier Qsmgw eﬁmmmﬁmm &9 &6aT_HEng).
@UuLD ‘Bs6dpps UL aan auflasda Qe bCui ellmg Qubma

@b glm. il Qedeugmgmre @u_l.sssauul_@,\ B swumiliy  Gpoésme
Qeuefludl i L gy

(a) Wi @b ' (B (2) bppid (b) LLED.
(a), (b) wpgyw (c) (D) (c) vl b ‘
Gﬁ]@i_ Qgfluielleene

130. Why India has not become self—rehant in edlble 011 productlons'?

L High cultivation cost
II.  Low productivity
III. Lack of Government support
Deficient domestic demand - :
(A/ IT only (B) IandIII °
(C) I,IIandIII : : (D) Ionly
(E) Answer not known
gemW erambleannil o pusSude ererm @nbHwur gHemiyy cgnsml_um‘jla)ma)?
L ga(hgerer snGLIg Qseay
IL  @@pbs 2 puss Hner
III. <eis ssre) Qdame
IV.  Gurdlw 2 drpr () Coae Gerenin
@) I o@d o -~ B) Iwpyod I
(C) L II wpmyd III : D) I @b
(E) oo Osfucddvme
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131. Which one of the following agricultural practices is ecofriendly?

(A/ _Organic farming

(B)  Shifting cultivation

(C) Cultivation of high yielding varieties |
(D) Growing plants in glaés houses

: (E) Answer not known

Qs> eflessmu papseiles 61 Gipe pry?

(A) 5_rﬂm GeuarmeaiTenLo

(B) en@Lg LTHYD
| (C) 288 &G H(HLD eumsHaTlen &rr@u-zq.
D) seimemy eS@E6Me auaT(d STITEHEET
B e Osfucidme '

132. "Every registered Land holder is its proprietor". The system is call‘ed. as
. W Ry_otwari system |

(B) Mahalwari system

(0)° Zamindary system

(D) Mugalayar system

(E) Answer not kﬁown
. "ufle; Qels Bleogms meusgierer eeubleummeuhid oigan Qsmhsssmyir e Qs :
(PEDEOW G)eUCUTD) SHEDLPSSETLD :
(A @rruggieuril e
B)  wsdeurf aperp '
©  gibérgrhl gpenp
D) psemuT ipen
(E) eflen Qg,lﬂ@@ﬁlﬁb&)@b

o i GR1P/21
. [Turn over



188. Identlfy the sector(s) of Indlan Economy which are the most affected by Covid
Pandemic — ;

(a) MSME sector
(b) Aviation sector
(c) Tourism and Hospitality sector

(d) Telecommunication sector

(&)  (2)and (@) only @), (b) and (©
© @only D) (@, (©only

(E) Answer not known

Qpdu  Qurmerrgrgdler, Camaill Gu@p@gnmmm’u uﬁ]aseqm Guorewns urré.]asasuuu_
gleom(ser) —

(@ Ay wopmbd pESST Agmdgser (I\/ISME)

(b) Gﬁ]LﬁI‘I‘G‘oT Cuns@eursa)

()  spmeTLHOID aﬂ@gb@‘gmbuéu Qgmfrumer Qgmiflevser

(d) Qsrew Agriy gon

@) (@) wpgd (d) v Go (B) (a), (b) wigd (©)
©) @wn i (D) (a), (¢) L@
(E) ofenL OpMuichereney

134. Which of the following states has shown the declining trend in the (GST) Goods and
Service Tax for the year 2019-20207?

(A) Uttar Pradesh, Rajasthan and Assam

(B) Haryana, Rajasthan and Mehalaya :

(C) Andhra Pradesh, Mathya Pradesh and Manipur
(V Maharastra, West Bengal and Tamil Nadu

(E) Answer hot knbwn .

2019-2020 b sy ewrig 601 Gaanew LD;DQJLO &7&@ eufl eu@edled @smmgog a;@m Cursg asnam‘ruu@m

mn;ﬂenma;m WImeneu ? :

A) 2587 ArGseab, TTRELSTET LOHMILD HFTLD

(B)  amflwmen, pregevgmen whmid Gosmeomum

(C) <pdr AGsen, s W GrCsab HMIL wenflLiyT
(D)  wanmryresgm, ComHE eumkisd WHMID SLODHTEH

E) e Gsfucidme '
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135. Consider the following statement.

The objectives of fiscal policy are

: Capital formation
2. Equitable distribution
3. Unemployment

4. Regional Balance

From these, which are correct statement?

(A) 2,3and4
(Vl, 2 and 4
(C) 1,3and4
M -1,2and3

(E) Answer not known

Gleeu(pLd snhenm seuefl

Hl& Qameransudle (B,r_r;rrésésréw;m_rra_lm

iy @osvg,em 2 (HEUT&ESLD
2.  swwrer Lsliey
3. Gmwmmnuﬁﬁﬂs&rwm
4, FLOEUL_LTTY eueTT&s]

@eupmer, creneu sflwimen sapm?
(A) - 2,3 @ﬁ)@l.b 4

@) 2 wHmLd 4

C) 1,3wimpb4

(D) 1,2 whmd3

(E) elerr Qapflwellcreney

73
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136. Consider the following statement.
The objective factors for determinants of consumption function are.
1. Motive of pfecaution
2. Motive of liquidity
3. Motive of avarice
4. Laissez-faire policy

Among the above, select the correct statement(s)

(A) 3and4

(V 1,2 and 3
(C) 1,2and4
D) 1land4d

(E) Answer nqt known

Werreu(mLd sahenm sauarf.

isiey &MienLs SISTHHTD DiEeiL 2pe1aT STyansearTea

5 5 penllangsfsems Crrasid
2. Brenio seanio CrT&sELD
e Guynens Crmésid
4. g,a?;a)uﬂ L& Cemarens

Cuesranib sapmisefler sflwurareunenn Csrey Q&uﬁuaﬁb '
A) 3 wHmw4

B 1,2 opmo3

©) 1,2 wpmd 4

D) 1 wombd4

(E) e&fen Asflwellcvena
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187. Which is not related to direct tax Revenues of the central government?

138.

(A) Taxes on Income
(B) Taxes on property and capital transaction

(C) Taxes on commodities and services

(]Qy Taxes on dividends and profits
(E) Answer not known :

wsHw rélar Crrg aumeuTuiangler gLty Goensg) eg)?
&)  emwrer eurl

(B) Qengg wHmb epegen aurl

(C) uewLs Hmb uanfl eu

D) uré;&rrg,rr@ O @evri el

(E) dlenL Qaflweieena

The first blue print for Indian planning came from an engineer administrator

(A)y*” M. Visvesvaraya

(B) Nehru
(C) S.N. Agarwal
(D) M.N. Roy

(E) Answer not known

Gpdwimellen rm‘ﬁl'_l_L&I_@_téS&;FrGﬂT aumrULRsE wsdle ehg Qurdlwirert Hieurdude Blmba
GulhG e |
(A) M. eflevGeueveugwim

®  Cpo
(C) S.N. wismeume
(D) M.N. gmi

(E) oferr Qzsfwelcrene
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139. Consider the following statement

3 o

2.
3.

4.

Bihar, Madhya Pradesh,'. Rajasthan and Uttar Pradesh have very high

‘population.

In India, Kerala has the lowest birth rate

West Bengal has the lowest death rate

Total population
Land area of the region

The density of the population is

Among these, which are the correct one(s)?

(A)
(B)
(©
@)
(E)

1 and 3 ; THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE

! 1 FOR FINAL DECISION.

2 and 3

1,2and 4
3 and 4

Answer not known

Genaumid sapeop seualéss

5

2.

3.

4.

CuCe sawr_supmier sflwirareney eTaneu?

)
(B)
©
D)

(B

GRI1P/21

denf, wgHu GyCsabd, Grrmevgrar wLHmbD 2 s87 WCssd o dwime 28l& WaEsET
Agnens GerarrL wrbleowmEd

Caparr Wss Geopps pUy 6850 Qsrar(Hérerg

Cuope eumsrad Wlss Gopbs @iy lfssms Qarar(erars,

&&6T QHTNG LTS eranig Qwrsg b&s. AgTems

SLuGdulen Hleoliugiiy

faCadall wpmw el Gz @y ellpsrs

Lwpgid 3 - ald g @apad par wadsiuL 2 g,
2 womid 3 | .
1,2 LD[_f)Qij 4
3. LHmb 4
eflenL Qg flweldema
76 : 0



140. Which are the correct statement(s) related to ‘T-Bill’ Treasury bill?
(a) They are issued by RBI. .
(b)  They are issued by Govt of India.
(c) Treasury bills pay no interest.

(d)  These are long term debt instruments.

(A) (a) and (d) only @) and (¢) only
(€) (), (c) and (d) (D) (b) and (d) only
(E) Answer not known

Spsremib sapmsefier T-Bill’ (Treasury bill) Agm_iurer #flwrareupenn Csirey Qeuiuiab
(@) e @bHw e eurdlwired Qeuaflud L@ emmer. :

(b) mas wsHL reTed QeueudL LS emman.

©  eupdlern By el g Frl'_l_@u_lmrrg,j.

(d) ioe ApHrsT S LSS THSET <G

B @ wpgd (ol B) (b) wpm> (0) i G
©) O, © wpmsd (@) D) () wpmb (d) wi G
(E) &ferr Qsflweldene

141. Thanthai Periyar wanted people to consider the following as equal to their lives
(A) Independence for the motherland :
(B) The family honour

Q)7 Self-respect

(D) Rational faculty
(E) Answer not known

sheos QuRlwn, wéser shiseT 2 ulHeEE QULITS araimam GauadTHid eram efl(mbwig
Q) smiprliger Bz

B)  EOLU serab

() sivmhunes

D)  uEssHlub Hpdr

(E) eflenL Qsflwelerana

n L SRS GR1P/21
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142. Consider the following statements:

1. The term of office of the Attorney General of India is not fixed by the
constitution

2, The remuneration of the Attorney General of India is not fixed by the
constitution -

Which of the statements given above is/are correct?

(A) 1only (B) 2only

«”” Both 1 and 2 (D) Neither 1 nor 2

(E)  Answer not known

SPERTL SadeOD GramTeRiiL LIMTée

1. @pdu sgemeaw aipssdesiear ugelsrab rdluaamwliibe flramdssiiuLaildme

2. Qidu soaamwn apsshesfer sadun Srélueablibe ;F,lrrsmuﬂl&a;um_aﬁlauma)
Qar@ssuuL@drar aurdunisefen g #flwimeang)?

(A) 1wol@w (B) 2w (@
(©) 1lwoppgw?2 (D) 1 womid 2 sj6e
(E) e&fewr Qsflweilevena

143. A Chief Minister supported by Thanthai Periyar challenged that “Show me a person
who died because a lower caste doctor wrongly injected or show me a building that
collapsed because it was built by a low caste engineer”. It was

(A) Omandur Ramasamy

(V Kamarajar

(C) Arignar Anna

(D) Kalaignar M. Karunanidhi

(E) Answer not known

ghog QuALMier eTe L6 (PFSOMEFFT @meuT @eieury seure eNHSSTT : “STpHS &7
wHSSIeT seuprs safl CuILgrd Qpis @ wallgmr aeaalLb sramMilsEsald g
smpHs &1 Qurhlumeryme saibg Curer @f sligL Smg el b sTamdssan.” @eieurm)
FaPIIeuT wWmr?

(A) st Grrwend

(B) smogrgr

(C)  sidiesT sictremtT

D) s@eEsT . smaTTHS

(E) dflenr Gsflweierens
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144. Consider the follow"ing statements.

A high court has jurisdiction to

(1)
2
(3
(4)

Punish for its contempt
Tender advice on a legal question referred by President of India
Tender advice on a legal question referred by Governor of the State

Issue certain writs to protect fundamental rights

- Which of the above statement(s) is / are correct?

@y (1) and (4) only

B) (1), (3 and (4) only
© (1), (@), 3) and (4)
(D) (2) and (4) only

(E)  Answer not known

s wiBSwenn sifsmrb Qg turar SpsamTL sapnsmer HeuallEsayb.

(1) BHwern ieuUEILISHEHEHE ST HET GULDEI GG
(2) @ndw Gyurs gl O(HHs <G Teeensdt Cal SLILC L it 3IEDS GULPMBIGEITLD
(3) wrhle %@‘mrﬂu&@@@ 2, Carsamenser Cal sl LTe) ieg CULPMRIGETLD
(@) siglueL 2 Aemwbsmer UTESTUUSHESTS o CuiTamarsaman AP I9&saTLD.
@euniled erg) sflwmer sahm?
@) (1) wppo (4) LB
B) (1), (3) wpod (4) W BB
©) (@), (2), 3) wpgd (4)
D) (@) wpgd (4) Wb
(E) ofen Qsflwelevenaw

) e GR1P/21
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145. Which of the following statements are not true?

(a) In 1969, the Government of Tamilnadu appointed a two-member committee
called Rajamannar Committee to examine Centre-State relations.

(b) It recommended that All-India services should be abolished

(¢ It recommended that Finance Commlssmn should be made a permanent body
(V (a) is not true

(B) (b)is not true

(C) (c)1is not true

(D) (a), (b) and (c) are not true

(E) Answer not known :

EpsreniuBb eursSwrisee eranal/ (gi) seupreng/(eeu)?

(@) wsHw wrble 2 pesamer e GFw 1969 b TR SOPBTH F& FTQLOGTETTT
SO 1g eremm @rer(® 2 mlileriaamerns Caram. @ eeren HUOSSE.

(b) =g sde Qndu Cemausamer eflss CouarT(BIb eremm LIMNHSMISSS!.

© ff geewd fgatuie g6 Hiksr Ssewouns GQnss Ga.fsﬁﬁ@Lb.GrebT@
uflbgianrsss)
(A)  (a) suprag
(B) (b) SHEUMMTETTS)
- © (0 sauprang
D) (), (b) wpmd (€) seupraraa
(E) el QsNwelrene

146. Which schedule of the Indian Constitution speCLﬁes the powers authority and
Responsibility of Panchayat?

(A) Seventh schedule (B) ‘Sixth schedule
(C) Tenth schedule (Mleventh schedule
(E) Answer not known

QpHu srfluamwibe by <l Lamanded LEsTwss wapuler Hpe, sy
oMb Qurmtiyser GHluGL Ul Hereren?

A) Teug il LeuamesnT (B) 6eug =i L euenemr

(C)  10eug @i L euenent D) 1leug <L euanamt

E) e QsMiediama |
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147. Consider the following statements :

148.

L Governor is appointed by the President

II.  He is the nominee of the Central Government _
III.  The Draft constitution provided for the indirect election of the Governor
IV.  The Constituent assembly opted for the indirect appointment of the Governor

. Choose the correct answer :

(A) () and {I) only correct (B) (D) and (IV) only correct
(Q”() and (I) and (IV) only correct (D) (III) only correct
(E) Answer not known

EPESEHTL SaHEnD SMHSaLD

3 @B Gl LTS FoaeurTe Hudsatiu@d

II. el wsSu sigsmhsssme Bluiwend Qb Hui e

L auepey spflueeanlys s yeEppT Buvasdbe wapws Csisd wapew

aupmSlwg)

IV.  spfluaewoiy fienu sou, geEppr Coizmée bopws Huber weape
T(H5gI6 CererT._g)
 sflwrer elenL_enui QzMb0sHés

@) OuoppsA)oc@osl  (B) (D) wpid AV) wiGbsh

©) @ wogw AI) whmb AV) v @wefl (D) III) wi b &
(E) &len Qaflwellcraney

Which of the following Institutions has the final Power of ; deciding on the

Composition of the Upper House of the State legislature?

(ﬂ/ Parliament

(B) State legislature

(C) Lower House of the State legislature
(D) None of the above

(E) Answer not known

wrble #-Lwern Cueaemaiuler 2 mlifanT crawrenilé&anseamw gﬁlr'rswru_‘ﬂé;e; Falqui Blmieued wing?
(A)  umpTEBLEIHLD

B)  wrfle L wempid

(C) wrifle & L ampsden Speneu

(D) Cupaadu eereuwb Gdeame
(E) ofen Qsflweieene
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149. The Indian President has a veto power over

I. Ordinary bill
II.  Money bill
III. Constitutional amendment bill
IV. State legislation bill
Which statement given above are correct
@ (@) and (V) only (B) (V) and (III) only
(C) (@, (1) and (IV) only (D) (II) and (III) only
(E) Answer not known
 @pAL Glgwrs s agar g 155 Qeldam dsmrsms Aemdg.mhaESpmi
0 gngnyent GEFTHT LBg)
II. Bl wCsrgT g
III. ewdueawlys sl L Hmss wCserst Bg
IV. wrfle sl wCsrgm 55
Gupeadlwieupmer erg sflwimeng?
@A (@) wppibd AV) 0 Gbd B) V) wpmid (II) w Gb
©) @, (D) wpgid (IV) LG - (D) L) wpgd (II) wGb
(E) &feo Qsflwelcrene
1800 Money Bills can be introduced in the parliament without president’s approval -
2. The finance commission is appointed by the president
Which of the above statements are correct?
@ @only ® D) only
(C) Both (I) and (II) (D) None of the above
(E) Answer not known
I. 54 wCersr, gamduduiear ufibgimrulerd prmepwammssle srése G&uﬁuﬁﬁ U@
II.  @sdu P eamubd gamdudumd BludlssinGEng.
Cupadueundle ergl Fmlwimerg?
A) (D) wi@w | (B) (II) wL@w
€) @) wpgwd (ID) (D) Cuphsear_ ereneuwyiidrena
(E) o&fenr Qsflwelveane
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151. The council of ministers of the Parliament hold office during theh pleasure of
(ﬂ/Prime Minister (B) President
(C) Parliament (D) None of the above

(E) Answer not known

BTLMEHLOETD DiennFarenal Bigligl, @eurs < @henowime

A QGrsw wp M - (B) gamdiud

(C) ‘r_r,m_rr@méhg)m (D) @@m 6TgI6|b @)eene
(E) e&feor Qs flwelvena

152. Which of the following articles broadly Govern the relationship between the
Prime Minister and the President? .

(V Articles 74, 75 and 78 (B) Articles 51, 74 and 75
(C) Articles 85, 74 and 75 (D) Articles 74, 75 and 79
(E) Answer not known '

Qemeu(mHd 6Tps edlPlser el wpmib 75w whdfuler 2 peaisamer elleuflsslammen?
A) edlser 74, 75 wHmDL 78 (B) ofdlger 51, 74 wpmib 75

(C) eflser 85, 74 wpmibd 75 (D) e&9flaer 74, 75 whmib 79

(E) e&lenr Qsflweiidvena

153. Directive principles of State Policy are described as "life-giving provisions of the
constitution" by

(A" L.M. Singhvi (B) Ambedkar
(C) Rajendra Prasad (D) Radha Krishnan
(E) Answer not known

<sirs Cury auflar’ () Carearenssdr aeamug ‘irdweamwnlibdne 2 ulrals@n lfserm@n’

6T - Fo. G, -
(A)  erev. erib. S (B) <wwCusst
(C) @i}ﬁ@_g{bﬁg LSlr,re_;rr,e_'r, _ D) @ursm &(megemren

(E) eflenr Qsflwelldvena
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154. Consider the following statements on Fundamental Duties :

1.

2
3.
4

(A)
(B)

Parliament cannbt enforce it by a legislation
It is applicable only to Indian citizens

All Fundamental duties are either moral or civil duties

Paying taxes is a fundamental duty

Which of the above statements are true?

2, 3 and l.are correct

1, 2, 3 and 4 are correct

(M 2 and 3 are correct

@)
(E)

1, 3 and 4 are correct

Answer not known

g UL & SLewser Qarurear Spssa. aursslwhismen seuaflsaseab

1.

2.

(4)

(B)

©)

(D)
(E)

GR1P/21

IBITL_T(GMHLDGITMLD &L'-l__l{r,ﬁ,]dT ePELD @ME BIOLHSGS (PG ULITg
Q& QB GgwésEpEts AUTBHEID
Sdasg UL sLosERGL @uss OnpdlsamarCur g

SLapamerCLIm Bjg LN Qsmam_ame.

2T&HEG eullsamer QFQIFSSHIeUFID (F g LILIL FHLGHLD
Cud sapliul.(HereTeuHmieT cTeney &rﬂwrrso'rmeu?

2, 3 womid 1 sflwrarensy

1,2, 3 wpmid 4.&1ﬂu_1rr6mmeu

2 wpmid 3 sflwrereneu

1, 3 wpmid 4 FRlwreTeNE

eflenL Qg Mlweleans

84
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155.  Which of the following fundamental rights was converted as legal right? _

156.

(A) Right to Equality
(B) Right to Freedom
(C) Right to Religion

@) Right to Property
(E) Answer not known

GereumeuaTeUDIT 6ThE iy LiLienL 2 Menio &L L o Aeowins LIHOUILILL & ?
A) swgge 2 Mew

B) &&HST 2 Meno

©) 1058 Maw

D) Qersgiflento

(E) &flenr Qsflwefdvenew

Identify the fundamental duty that was added in 2002 by the 86th Ameﬁdment Act.
(A) Respect National Flag '

(B)  Defend our country

(C) Develop Scientific Temper

(Q)/‘To provide opportunities for education to children between the age of 6-14
years

(E) Answer not known

20026 861b iyflued sTFMT H(HESSD FLLID APOLOTS Gerdaslul L SigliuemL. sLewaw
SeTL_Hl&.

A) GCsflw Qsmgenw wHSS0 |

(B)  pwg primL LUTEHSTESH

€C) <eiflefwe 2 amriene CbLNSSISE

D) 6 ws 14 auwng GRHmssERssTaT 5060 SHELD CUTLILIL] QUGS

E) oo Qsfucidmen |
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157. Consider the following statements :
[ The consititution of India establishes a Parhamentary form of Government
II.  Prime Minister is the Head of the Government
III. President is the Head of the Government
IV. Real executive power rests with the President of India

Choose the correct answer from the following :

@ (@) and (II) only true ~ (B) (III) only correct
(C) (I)and (IV) only correct (D) (IV) only correct
(E) Answer not known |

SS@TL SaHeOD &([HS6LD

L. BBHL SrdueaoliLg sLLID UMTTELOED SipETHs pepau Hipedujerers
CIL Qpgofr sipsmhisgdlen ST e

.  @E4wurs smea STEMhESS6 Smeall Qe

IV. @uurssooal 2 arowwurar dswem § < Slamyb QamairLeuit

sflwrer et e sarL_Hle

@A) @ wpmwo AI) w @G &fl (B) (III) w @ &l
(©) (I) wpmid IV) L Hb & (D) (IV) wl @B &f
(E) eleo Qzflwedereney . .

158. By what name or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan
(B)#” India and Bharat
(C) Bharat
(D) India, Bharat, Hindustan
(E) Answer not known

Qb srdueenwiinded GHu ol Hearer @pSuwireilen @uwim wrg?
A) @pdwer LHYL GHGIEVSTEN

B) @pHur HmId LTFSLD

(C) unpsbd

D) @pHwr, uTyHD, GbEIEVSTET

(E) efenr Gzfwellevene
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159. Match the following :

(a) Article 39(b) 1.  Protection of Ecology, Environment from Pollution
(b) Article 48(A) 2. Equal pay for Equal work

| (¢c) Article 39(d) £ Free legal aid to the poor
(d) Article 39(A) 4.  Abolished hereditary property

@ (B (© (d)

A 1 2 3 4
Q) 4 1 2 3
C) 4 3 2 i
D) 4 1 3 2
(E) Answer not known
- SpasarLeupenn QUITBSSIS :
(@) &L 2 miy 39(b) 1. Gwelwe wHmib &HMIE @G TSI I 60 [HHg)
| | LITgIETLIL
(b) &l 2miy48(A) 2. &1 Cauenevd @ Fio 2ardlwitd
() el 2miy39(d) 3. geyealu bssEnsE Qaocus sl 2 56
td) sl 2 miiy 39(A) 4.  ugbueny QersgiLmw ANSS50
@ O (g (d)
HAYT 2 3 +
®) 4 1 2 3
(O gt
D) 4 1 3 2
(E) dlevr Qsflwelicvane
D _ - . GR1P/21
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160. Match the following :

(a)
(b)
©
@

A
(€2)

D)
(E)

2
1
Q” 4 5
4

Preamble as

Political Horoscope
Keynote to the Constitution
Soul of the Constitution

Paradise of Lawyers

@ ® © (d)
1 3
2 4 5

X
1 3

Answer not known

CQummSgIs :

()
(b)
(©
(d)

A)
(B)
©
@)
(E)

GR1P/21

wpslLeyuiler LgLD I
STl RITFHELD
2rflweemoliGer smedl
<Sirflweentolide 6o

au&sMerisafler QemTaEsid

@ ® © (d)

i 2 3 4
2 1 s
4 5 do iy
1 4 3 2

eflenL Gsflweidvena

88

i gl

SRV G0 e

Said by

Sir Ivor Jennings
Thakurdas Bhargav
B.R. Ambedkar :
K.M. Munshi

Earnest Barker

g6

&I gaeurm Glggererfin
SMNGSTEN LITS6]
19. =y 1t. 2UDCUSEHT
Cs.arib. (pend)

GTTGTGL_ LIMTHST



161.

162.

163.

Find the value of k if
184923 4.4 kB = 44100
@’ 20

(Cy: 22

(E)  Answer not known
k -én i srems.

1° + 2% +---+ k% = 44100
A) 20

(©): 22 _

(E) &L Qaflweievens

(B)

D)

(B)
®)

21

21
23

If A=2% and B=2% + 25 + 252 +... 4+ 2° which of the following is true?
('R/ A is larger than B by 1
(D) B is 2% more than A

(A) B islargerthan A by 1

(C) A and B are equal
(E)  Answer not known

A=2%  oopmp B=2%+2%4+ 2%4...42°

Gemeu(meuaTelHBled 6T 2 eento?
(A) B sag Agei 1 oiflsd
(C) A wpmgid B gwbd

(E) oflenr Qaflwellvens

Find thé missing number :
3, 12, 27, 48, 75, 108, —

Ay’ 147

“{C) 183

(E) Answer not known

N(HLILL CTERTENGRTE &TEHTS ©
3, 12, 27, 48, 75, 108,
(A) 147
() 183
(E) oo Qsflueidma

89

GTENS

QarBssiul_Hererg — eTafled

B) A sy Bgeil 1 oidlsd

D)

(B)
®)

(B)
(D)

B syeiz Ag e 2% oiflsn

162
192

162
192

GR1P/21
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164. In the given number pattern find the next term

21 321 4321
33’ 444’5555’
7531 1234
bz : 2 ey
o 6666 = 5555
4321 R 54321
C St
) 2222 ( 66666

(E) Answer not known

2—1 321 4321 erem e HES TETER TS TS
33’ 4445555 . i ;
7531 : 1234
A — B) —
6666 5555
4321 54321
C S ;1 Ot
© 2229 = B 66666

(E) &fev Qzflweldenc

165. If ‘HUMBLE’ is given by the code EHLUBM. What does the codé EDUCATION

mean?

(A) NEDOIUTCA
(B) NEOIDUTCA
(C) NEDUOITCA
(M NEODIUTCA
(E) Answer not known

HUMBLE erérues EHLUBM argi> @i syciiqér EDUCATION eragyib @fiS®
aTs@ans GHEED?

(A) NEDOIUTCA

() NEOIDUTCA

(C) NEDUOITCA

(D) NEODIUTCA

(E) Qe QzMwelerane
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166. What is the probability of getting an even number when a die is thrown?

1
(A) . (B)

@5 W

(E) Answer not known

olon w|

@ us@La@W 2 G HDEUT(Yg @T QrleL LumL aar el Lugpene Hepssea) wng?

4 B)

©) (D)

(E) oflen Qsflweilerena

o= o=
olot w|Me

167. The present ages of Arun and Suresh are 24 years and 36 years respectively. What
was the ratio between the ages of Suresh and Arun, 8 years ago?

(A 4:7 B 6:5

@ 7:4 _ (D) 3:2

(E) Answer not known

Simer whp &Grdy sHCLTMHL euwgsET PG 24 euBLRIFET WHND 36 eubHLhiseT
aafles 8 yahHsEssE ary &Gray wHML HET ewgselar ffgn eeaeuTs

B BB BEGD?
(A) 43 : B) 6:5
C 17:4 D) 3:2

(E) efen Qsflweiicvenso

168. A and B together can do a piece of work in 16 days and A alone can do it in 48 days.
How long will B alone take to complete the work?

(A) 18 days (135/24 days
(C) 28 days (D) 30 days

(E) Answer not known

A vpmid B 9 du @meumd @oanss @ Coumamw 16 priseafle apglufr. A seafiGuw
<ips Caumamwu 48 prisale wguurt aafled, B salCu <ips Comamu assmearn

B sefled (pigLILmi?
A) 18 prisar : (B) 24 priser
(C) 28 pmiser (D) 30 priser

(E) oflev Qsflweildvens
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169. 210 men working 12 hours a day can finish a job in 18 days. How many men are

. required to finish the job in 20 days working 14 hours a day?

(A) 156 men (Msz men
(C) 168 men 4 (D) 172 men

(E) Answer not known

210 yamaser pr@ammannsE 12 wenfl Crrb Ceume Gawlig ¢ Coamaamw 18 Brisafled
wpipLiur. 2Gs Ceuamavenws prblerreanmis@ 14 wenfl Cryb Ceume Gauwig 20 priseafle (g &s
THEDET Y FTEET Ggméu? 2 : .
(A) 156 yawrser (B) 162 yaoraer
(C) 168 syawraer : (D) 172 syevrser
(E) oo Qgflweileveney:

170. If 5 persons complete 5 projects in 5 days then 50 persons complete 50 projects in

days.
(M 5 days
(B) 10 days
(C) 50days
(D) 55 days

(E) Answer not known

5 pufger 5 Caummau 5 prisefléd Gelg wyliui erafld, 50 puiser 50 Couenesemer

B_safe Qetig) Apiq LI,
(A) 5 priser

(B) 10 prisar

(C) 50 priser

(D) 55 priser

(E) e&fenr Gzsfwelicvans
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d¢1.

172,

A mason uses the expression 2x° +16 to represent the area of the rectangular floor
of a room. If he decides that the length of the room will be represented by 2(x +2)

then what will the width of the room be represented in terms of x ?
@A) 2x-2)

B)  (=*-4)

(Qp” (x* -2x+4)

M) (x%2+2x-4)
(E) Answer not known

sl Geumawrer emeut smpuiar Qsdueus age smyder urliuarey 2x° +16 erang
Siorailsgs . Gsnam . oiger Berd 2(x+2) aards GHSSILLLTD JSOLIE X -6
EMTUNS 166w (meueTeu HmIET 6Tg)?

A 2x-2)

B (x*-9)

© (x®-2x+4)

M) (x?+2x-4)

(E) e CQpMlweldene

The volume of a solid hemisphere is 29106 cm®. Another hemisphere whose volume
1s two-third of the above is carved out. Find the radius of the new hemisphere.

(A) 21.5cm
B)'  12¢cmn
(G 21 cm
(D) 23cm

(E) Answer not known

@ e sersCsarargdlen sarsiarey 29106 5.@&1.5._@36%1951613 Qe LIkIE ST 6TeeTeT
wHCpr e@rsGarerd @dlmhg Gesssiiu@wrame Uy orsCarargdear b
ereven?

A) 2180k
B) 12Gsi.
(C) 21Qsb.
(D) 23Qs8

(E) eoeni Qg,ﬁwaﬂsbmw

93 GR1P/21
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173. The difference between simple and compound interest on a certain sum of money for

2 years at 2% per annum is ¥ 4. Find the sum of money

(A) 2,000
B) 17,500
) 10,000
(D) % 12,000

(E) Answer not known

2% e au il 2 AFOES @i SERESGS AL sl B el gsEd sall aliybELD

Gar_Cuwerer elgHuinsid T 4 erafler Sieupblen iee cremen?

(A) 2,000
B) 17,500
(C) ¥10,000
(D) 12,000

(E) e&lenr Gsflwedievenso

174. The difference between the compound interest and simple interest accrued on an

amount of % 18,000 in two years is ¥ 405. Then the rate of interest per annum is
A 12% ®R)#T5%
(C) 18% D) 10%

(E) Answer not known

@m emuusale T 18,000 BSgrar sl ( ey, saflaly pHuapdler esdwrsd
% 405 crafled au(mHL eul_lg 635D .

A 12% ' B) 15%

(Cy 18% ' D) 10%

(E) &l Gsflweiicvens -

GR1P/21 94 | s n



175. Find the rate of interest if the difference between C.I and S.I on 2 8,000 compounded

annually for 2 years is ¥ 20
& 5% B) 10%
© 15% - D) 20%

(E) Answer not known

¥ 8,000 &5 Qran(® ASFTHEEHES HLsED ml B alysEh, sl ulyseEh o Gu
e aer eflgglwimsd T 20 erafleh euliq eigid SrewTs.

@A) 5% B) 10%

© 15% D) 20%

(E) efenr GgMlwelcrena

176. Find the principal on amount % 11,800 at 6% per annum for 3 years being simple

interest annually.

(A) 8,000
B) 9,000
( ¥ 10,000
M) 9,500

(E) . Answer not known

epepram(Bsefler 6% gaflai_y. aisid Qrss Qgreans T 11,800 SiafléEh sismas snams.

(A) 8,000
B) TIQ,OOO
(C) %10,000
D) %9,500

(E) e&lenr Gsflwelidvency

n Cot 95 GR1P/21
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177. The value of a machine depreciates at 10% per year. If the pfeseht value is
£ 1,62,000. What is the worth of the machine after two years?

(A) £1,29,600
B) 1,30,600
(C) 1,31,600

®y” 7 1,31,220

(E) Answer not known

e Quipdrsder sHCuresw wduy T 1,62,000. gaiCanm amBEED @u(r_sﬁqgﬂm
iy 10% Gopdng. arafd, @ran® yamdser sfss Qeaeunbdrssler i eremarn?
A) T1,29,600 '

: B) ¥1,30,600
(C) %1,31,600
M) = 1,31,220I
(E) ofenr @g,mas}@m

178. A sum of % 48,000 was lentout at simple interest and at the end of 2 years and
: 3 months the total amount was % 55,560. Find the rate of interest per year.

(m/ 7% | B) 8%
©) 9% : : (D) 10%

(E) Answer not known

sLams euphslLl L g T 48,000-5@ 2 YyarBser 3 w1gs sTasHHEL b g,eaﬂem_'-@
apaid QupLiLL L Qursss Agrens T 55,560 218 QmhHss crafle, aully issmss srams.

A 7% . B) 8%
C) 9% o (D) 10%
(E) o&flenr Qg,ﬂmeﬂsbmeu : -
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179. - Raghul wanted to find the height of a tree in his garden. He checked the ratio of his

180.

height to his shadow length. It was 4 : 1. He then measured the shadow of the tree. It
was 15 feet. What was the height of the tree? '

(A) 15 feet ' B) 30 feet
@ 60 feet (D) 75 feet

(E) Answer not known

Qe sang Csm L g8 o erer @@ wrsdear o wrsams il el bant. GLTg Sjeurl

 BAG 2 LIEDSUID, SIS Blipsllar HergamsLid amhg 15 4 @ 1 e alldgsa &sﬂmemg)

<ifpsni. Gen wrsden Hlpeden f}sm.o 15 g arafled, wygdlen 2 wipb eremen?
A 15 =g : _ B) 30 =i

(C) 60 g D) 75 =g
(E) eler G]g,rﬂ'u_laﬁiebmeu

A shop keeper marked the price of an article as 15% more on its cost price and then
- offered 15% reduction for the article, then he got

(A) Profit

(_BJ/ Loss

(C)  Neither Profit nor Loss
(D) Profit as well as Loss

(E) Answer not known

R BSOS e Qunmailen i &8 Aeauda 15 s56Ssb dswrsd g Ghss e

- &S, e 15 5565510 SeTEnUly SHS ApLicar Qeiidp crefled SeL_SETIT e bEs!.

(A)  emud

(B) piLbd

(C) emuub Gaene EQL_@L‘D Qevena :
(D) L LTS @) (HEGLD BLL DT&SeD B)(HEHGLD
(E) L QeMwelerena -

97 — ~ GR1P/21
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181. A hemispherical tank of radius 1.75 m is full of water. It is connected with a pipe
which empties the tank at the rate of 7 litres per second. How much time will it take
to empty the tank completely?

N

B)
©
D)
(E)

27 minutes

26 minutes

72 minutes

62 minutes
Answer not known

. <prib 1.75 18 2.6er @if SiewyCamer aulgeaid OFmig @@;&@m Brmer Blpiudiucerergl. e
Gumier epad epmesiE 7 i aign Qsmiguiadmbg B Qmaﬂ@mm@uu@mnmnm '

Qamiigenw ereucuaray CrrsdHle wppeusinrs smedl Celiwiemb?

(A)
B)
(©)
(D)
(E)

27 BLfl_riser
26 Bl miser
72 HlolL_rmiser
62 HlllL_riger
efllenL GgMwaellerensy

182. Find the LCM of (x* - 1), (x? - 2x + 1)

(A)
(B)
©)

D) (x+ 1)

(x+1) (x-1)
(x% +1) (x - 1)?

(B/ x +D(x+1) (x -1)2

(E)

Answer not known -

8.Qum.w sraws. (x* - 1), (x2 - 2x + 1)

(A)
B)

©
@)
(E)

GR1P/21

(x> +1) (x+1)

(x+1) (x-1)

(x® + 1) (x-1)°

(x® +I)(x +1) (x - 1)°
allenL_ GQsMwedcene
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183.

184.

Find H.C.F. of (x%y + xy?), (x* + x)
A x+y : (B) xy

(& x(x + )

(E) Answer not known

(xy + xy?), (x* + xy) @y Hweupder 8.Qui. 6. SRS,

A  x+y : B x

© xx+y) D) =+
(Ej 65]6531. Qg flweildena .

; : { R e

implify 2+4 ) 5
il
A 6—
( ) 2
1
@6
8
C 6—
(©) 5
: 4
D 6—
D) S

(E)  Answer not known .

a—f@a;@a;.; 5% +% @mg
N 6%
(B) '6%
® 63

(E) e Opfueliame

99

D) x*+y°

GR1P/21
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185. Si]:nplify:é+§—§+@mlgx:—EZ
g2 -3 9 16

53 | . 43

35 - (B) =
33 - ' 13
@ s

(E) Answer not Rnown

O s 33 19 9 1p

53 ; 43
A) S = | | B) E
o @

12 12

(E) _aﬁleﬁn_Qg__r,rﬂu_iaﬁ]éusmn

186. According to Darwin, speciation is effected by

Mmall continuous heritable variation
(B)  small continuous non heritable variation
(C)  sudden heritable variation
(D)  sudden discontinuous variation
(E) Answer not known

- Lriredlen sapmyiLlig @EhISET TEET (PELD Gg,rr{ni)gsﬁ].ésaaa u@a‘é]éhg)dr?
(A) .eﬂ,_rf)]u_l QETLIT LTy FTTHS wrnur@ '
B) Aflw Qs wry .@16’060@, rmumr@

- (© Qtafr IOTL| EMTHS mrr@urr.@

I D) et Asm_r&flwhn Lorrg)]urr@ .

(E) e Qzflwellevene
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187. Agriculture Information Service Network (AGRISNET) was launched for providing
following information viz.,

Lk Rainfall

II.  Fertilizers position

III. Minimum support price :

IV.  Sister departments of farm community
Select the appropriate combination : _
A I IlandIII _ M IT'and IV
C) ILIlandIV : (D) II, III and IV
(E) Answer not known ' '

eusmu sseuer Comes eumewewlil (AGRISNET) Spsmemib Qgn@lide o direr
S&EUDSMET S(FEImS)
=L wenlp Gumfley
I1. 2 7 @iy Hleveurid
III. @Eenbsuls 2sTT e
IV. ueenent sepssélen gienent glanmaer LD
 sfluner Coidaaamu Gairey Qe _ ;
@A) I II womw ITI B) L II womod IV
©) I, I wpgd IV = D) II, III whgon IV
(E) d&flevr @g,rﬂmaﬁleumsu

188. Which of the following mczdents led Thanthai Periyar to agitate for Communal
reservation :

(A) Representation for the backward classes was very little in Government jobs
(B)  The Central Government resolved to invalidate the Communal reservation
(C) The State Government resolved to invalidate Communal reservation

(Mhe High Court and the Supreme Court declared as invalid the Communal
' reservation for professional courses

(E) Answer not known

SDSTEID ETHE FOLIGURIGET g,;j@g, Quflwiranyy m@ul_]a.rrrg, o\ @@5&@ (Eg_r,smeu eTe
Serieflenw Crradl o baluig.

A) s Caumesafle Garshidlw m@ﬁqasaﬂsh Wlas @enmeurer GgSHlSsgieun

(B) m@ﬁqmﬁrﬂmnm@:_uu@&@ Qadeng erem wSHw SiFeH Quindlu Srorerd

(©) @J@;uqsurrrﬁun@i @ uuiéh Qedeng erar wrble oirs @unblu STorerd.

D) Qsmfnerd sweluler eu@lieurfluimer @l_uurmé@ Qaeverrg ererm 2 wWHS eTmpLd

o FabHampd 2iflelsss)
(E) e&fenr Qsflwellcvena
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189 According sustainable Development Goal India Index 20109, brought out by the
NITI Ayog for the year 2019, Tamil Nadu stands

(A) First

(B) Second
" Third

(D) Fourth

(E) Answer not known

2019 v <ear® HF Cwrs QeveflldL @pHwrelen Howss5565 aueT &S Game
@wsEsd GRS e, sIBILETE ALDHHEED GLib '

(A) apporag)
B) @uewrmeug
€) epepraug

D) prensTaUg
(E) o&flen Gsfluwslldvenen

190. Water drop in space is sphermal because in the absence/reduced -effects of grav1ty,
the forces governing the objects are all the same and therefore the drop

(A/ attains a shape having the least amount of surface area.

- (B) attainsa shape_e having the maximum amount of surface area. .
(C) attains a shape having the least volume.
(D) attains a.shape having the maximum volume.

(E) Answer not known

eflam@euaflldier iy ellens Gererssanme/Gampeurs @@ﬁugmnm Qﬁﬂ@dmaﬂa‘&r g e
- Simasg dassEnn Fwwons Qmsdng. Qsand elar@euafuie ff,rrg,gjmﬂmrrm@ (Ba;rrmsuqm
Qumdng. Seueumy Camer alig.alb a@uUBee, Bisgiaf

A)  Bss eopeurar Copurliy QsTETL ey eSS THE DS).
B) W& sPswrer CoHuriL QsTaT  aligausms G,rg')é?,rng,].
©) Alss @Gmg)eu e Li(hLoeor GlamenrL_ m@mgaﬂg gHEG.
(D) Bl& oiflswmer L6 QsTea el eusams TS ng.
&)~ Aol Cpfivictiame '
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191.

. 192,

Athikadavu - Avanashi scheme is related to
(A)  Drop irrigation
(B) Pour - irrigation

(C)  Drinking water and Well Recharge

_(V Drinking water and Ground water Recharge

(E) Answer not known

A) Qe @ B unsansH LD

B)  QsefluiL Bt unsansSi L

©)  eubiwpnd darpser Gedlay’ G S b
D) bt oppd Bosse i Geday G S
E) oo Osfluadoame

Why Chennai is called as “ Detroit of Asia™?

(A)  Due to the presencé of Textile Industry

(V Due to the presence of Automobile Industry

(C) Due to the presence of Leathér Industry

(D)  Due to the presence of Film Industry

(E) Answer not known .
“pfluneller QUi gmi” ereny Qeananen g DiampsslILOADS?
Q) meiols Bsnlies QEUUsae |
B) G Lni ansars Aemfléd GELiuganme

©) | Camed an@eﬁj B LLseTeD

(D) SevruuLg Qsmfle @mUiLgerme

(E) el Qsfuciome
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193 To reduce the Investment and the Incremental capital output ratio the followmg
" approaches are to be accomphshed :

I Static efficiency

5 2 Dynamic efficiency
III. Allocative efficiency
IV. Technical efficiency

(A) - I, III IV only B) I, II, I1I only
(© LI IVonly - @i vonly

(E) . Answer not known

@(H Q,ag;eﬁ'@ womd HsfsEn poger: GisuaﬂuSL(B ilflssmss @a)ma;a; letreu(mHLD
a@miGpamnser HlanGaunnliuie. GeumrHid

I feewurar Csweadper
II.. wrmib CFweadner

III. @#&8H Cewadner

IV. Qsmfemlu Gewddner

@) LILIV o o . (B) LIL Mt @i
et Oy 110 Wi G
E) o Osfucldme

194. According to All India Survey for ngher Education 2019, which State produced the
maximum number of Ph.Ds. in the country in 2018? -

: M Tamil Nadu (B) Kerala
(C) Maharastra : ' . (D) Gujarat
(E) ~ Answer not known
s@asg @pIw 2w soalésrar sansdsBuy 2019 ulen uqlsr‘r_'r,g, .LDET‘[B]GDL'D 2618 udled
2iflaLs aramaiismsudener 19.678 1 saer ((paarauisman) o (haursdlujereng?
Q) sOpETH B) Gsyerr
(C)  wanyreyg T - D) Gms
(E) e Gsflwelerene '
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195. Consider the following Assertion and Reason

Assertion (A) : Bringing down the influence of the rich and powerful people in
making Governmental decision making is the challenge in the

concept of ‘expansion of democracy’.

Reason (R) : People’s participation and their control in meaningful, only when
influence of the rich is brought down. It results in “Deepening of

_ : Democracy”.

WP (AY 15 Srronz but (B)45 correst
(B) Both (A) and (R) are correct
4Oy 24(R)ig Wrbng but (A) 1s correct
(D)  Both (A) and (R) are incorrec"c :

(E) Answer not known -

Epaimid sMSS LHDID SMT@D Hswapap saiaiésa).

sm&Ss (A) 1 c@u;réméj_a; @q@m@gj@sﬂ@, uwé;as-rmr'raseh LHOL  SFHSTHD UL SS
wéseflan Csdarsms GoPULS el “‘gapmus olflaurssn” ey
B saird yib |

srremid (R): wésdr uis@iy m;_'rjgm Siauisaflen a;L@ﬂL:n@.sr_@iﬂu@ L& s TyiTsefe
Grbanse  E@PssILEHEUTE GG GUIEE®LLSTE LIpLD.
B 8Ceu amBTLSESMmS SPLILIHSSID ;bn_suq_éssmasumn@Lb. . '

@) (A) sauy sy (R) oo @ &

® @) wipid R) @ranGuosf

© ® samgemne A) &

(D) (A) LoHmILd R) @rar®ib &f e

B oL Gsfucdoms
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196. Assertion (A) : Access to Primary Health centres helps identification, care and
prevention of communicable diseases in rural communities. '

Reason (R): More optimum utilization of rural health infrastructure is expected to
yield expected results.

@Q/ Both (A) and (R) are true and (R) 1s the correct explanatlon of (A)
(B)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(©) (A) is true but (R) is false

(D) (A is false but (R) is true

(E) Answer not known

o mFULE smpd (2) : Mo ESET FETHETY @WLLkRSmET ealgsTs EmGD Gung
Sibwsseilen Cu- GsmHo @g;rruaaemm SO WITETLD  STETayLd,

asa.teoﬂa;aseqm g;@asa;mm o gafng.

sryawrid (&) : Aol &as.rrg_r)m;r o el Lepolden  2&bs  LweTLN(
TSTCHIEEGLL Laears S(HLd :

A) (). (sm Qran®b &fl. @5giLan (sm) eranig) (2-)-aflen eflwren eflerébsid

@) (o) (er) Sueatin of. B s laogits lnsic t e e i

©€) () &fl gyammed (51) goun) it

D) () saum e (sm) ol

(E) eflen Osflwelvenaw

197. Which is the first state to employ differently abled, in the Mahatma Gandhi National
Rural Employment Guarantee Scheme?

(A) Kerala S Mamilnadu !
(C)  Gujarat (D) Karnataka

(E) Answer not known

wersor s Csdlu sars Came 2 pds HULsHd, wiHns g]msmwaﬂamm LIGEﬂU.ILDng’;‘QUJ :
(PG OTHlLD 6Tg)?

A)  Gsyerm (B) Ig,L&gg,rr@
(C_). GRS (D) sipr_sT
@) elere Qshusiidms |
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198. Identify the Personality:

(a) He was honoured with such titles as Rao Sahib, Rao Bahadur and Divan
- Bahadur for his selfless social services he did for the marginalized in the caste

order.

(b)  His autobiography is Jeeviya Saritha Surukkam which is one of the earliest

autobiographies.

(¢)- He founded the Adi Dravida Mahajana Sabha.
Who he is?

(A) Thanthai Periyar

@/ Rettai Malai Srinivasan

(C)  M.C. Rajah

(D) M. Singaravelar

(E) Answer not known

%@@LDGID[LI S| L_WITETLD STemTeLd

(a) grdl  aflmsle @EEsLIULLTEERE6Ts el Qs sa@OLOD  FUps
Ceenous@psans gmel LUSET, freu sméll wpmb SHeurer LSHNT eTern UL L RiGener
Qasr(hsg Casearyeilsasiiul L.

(b) 2jeurgl sWETans g‘é‘sﬁ]u_i Mg &mHESD Y FbUsT SWaflagsafiey eeammm@ELb.

(c) <jeui pdl doredl wamgmen FevLienWl BlmeSleom.

WITT <HQUT?
A) spws @urﬂ@rrr’r
B) @il wae Uhealleurser
(C) o8 prsgm
D) - ew. Amsry Geuer

(E) e Qsflweloena
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199 In Jaﬁuary 2019; Indian Government approved the rher-ger of three Banks. Which of
the following does not figure in merger? : :

(A) Dena Bank

(B) - Vijaya Bank

(C) BankofBaroda
Gy Lakshmi Vilas Bank

(E) Answer not known

saraufl 2019-6 epenm eubiElsmar @@@ﬁmm&;&; Qb Sive Sigind aiprdug). Spedm
eréucuriidl @bs emhadameaniiGa @b dupeidame?

(A) Cserm aurisd '

(B) éﬁ]g;urr YL

(C) uGUrrL“J;r LTS _

D) wdud s aiiid

E) oflen Gsflweilvenev

200. “Post - Tsunami sustainable livelihood programme for the coastal communities of
Tamil Nadu” is assisted by

(A)  World Bank .

V International Fund for Agricultural Development
(C) Asian Development Bank

(D) International Monetary Fund

(E) Answer not known

SLODBTL g6 2 dtar sL_Carmy wasErssTar samilée ke Hlowss aumpeInsTr S LsH0E
2 56/48Ing).

A) o oseaumd :

(B) eYeusmu Guburlighemrer &r’rm@gy& BSwib

(C) <=Aw euardd) cumbidl

(D) sreuGse prawmus HlHwid

(EI) eflenL GgMwelerene
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